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Section Marks : 100

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 53622825
Question Shuffling Allowed : Yes

Question Id : 536228617 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (1 to 5)
Question Label : Comprehension

Consider the following table that shows the number of girls enrolled 1n three different
Universities A. B and C over the vears 2015 to 2019. Based on the data in the table. answer
the questions 1- 5:

Year-wise Number of Girls in Different Universities

Number of girls in a Umiversity

Year
A B G

2015 | 15.000 10,000 9,000

2016 | 10.000 17.500 20,000

2017 | 22,500 12,000 15,000

2018 | 20.000 25,000 15,000

2019 | 25,000 20.000 22,500

Sub questions

Question Number : 1 Question Id : 536228618 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



What 1s the ratio between the total number of girls enrolled in Umiversity C in the year 2018
and the total number of girls enrolled in University A and University B together in the same
vear?

(1) 4:3 (2) 3:4
(3) 2:3 4 1:3
Options :

5362282401. 1
5362282402. 2
5362282403. 3
5362282404. 4

Question Number : 2 Question Id : 536228619 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The difference between the number of girls enrolled in thevear 2019 and 201518 mmimum

for

(1) University A only (2) UniversityB only

(3) Both University A and University B (4) dBoth University A andlUnmiversity C

Options :

5362282405. 1
5362282406. 2
5362282407. 3
5362282408. 4

Question Number : 3 Question Id : 536228620 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



What 1z the average number of girls enrolled in the vear 2017 in all the three Universities

together?
(1) 20.000 (2) 16.500
(3) 10,000 (4) 18.500
Options :

5362282409. 1
5362282410. 2
5362282411.3
5362282412. 4

Question Number : 4 Question Id : 536228621 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Total number of girls enrolled in all the three Universities together in the vear 2015 18 what

percentage (%) of the total number of girls enrolled in Unmiversity C in the vear 20187

(1) 200% (2) 225%
(3) 165% (4) 45.4%
Options :

5362282413. 1
5362282414.2
5362282415. 3
5362282416. 4

Question Number : 5 Question Id : 536228622 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



The total number of girls enrolled 1n all the three Universities together i1s second highest for
the vear

(1) 2019 (2) 2018
(3) 2017 (4) 2016
Options :

5362282417. 1
5362282418. 2
5362282419. 3
5362282420. 4

Question Id : 536228617 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (1 to 5)
Question Label : Comprehension
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Number of girls in a Umiversity

Year
A B C

2015 | 15.000 10.000 5.000

2016 | 10.000 17,500 20,000

2017 | 22,500 12,000 15,000

2018 | 20.000 25.000 15,000

2019 | 25.000 20,000 22,500




Sub questions

Question Number : 1 Question Id : 536228618 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

o9 2018 ¥ favatamme™ C # Ffaen o4 aTell STierpsl =i %ol @EE a9 361 99 {GvataeeE A 3R

favafaamea B 5 afaen =+ arett afersradt i Affeid Fel S 1 S99 391 7 ¢
(1) 4:3 (2) 3:4

(3) 2::3 (&) 1:3
Options :

5362282401. 1
5362282402. 2
5362282403. 3
5362282404. 4

Question Number : 2 Question Id : 536228619 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362282405. 1
5362282406. 2
5362282407. 3
5362282408. 4

Question Number : 3 Question Id : 536228620 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

79 2017 § T Fovaiaeneal 9 Siae w-aret Sl S 5 S 54 7 7

(1) 20,000 (2) 16,500
(3) 10.000 (4) 18.500
Options :

5362282409. 1
5362282410. 2
5362282411.3
5362282412. 4

Question Number : 4 Question Id : 536228621 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) 200% (2) _22a%
(3) 165% (4) “454%
Options :

5362282413. 1
5362282414.2
5362282415.3
5362282416. 4

Question Number : 5 Question Id : 536228622 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) 2019 (2) 2018
(3) 2017 (4y 2016
Options :

5362282417. 1
5362282418.2
5362282419. 3
5362282420. 4

Sub-Section Number : 2
Sub-Section Id : 53622826
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 536228623 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

From the following. identify those characteristicagwhich.ge within theseategory "helping
behaviour’ for becoming an effective teacher :

(A)  Structuring

(B) Student success rate

(C) Using student 1deas

(D)  Probing

(E) Instructional variety

Choose the correct answer from the options given below :

(1 (A), (B) and (C) only (2) (B), (C) and (D) only
(3) (C). (D) and (E) only (4) (A). (C)and (D) only
Options :



5362282421. 1
5362282422.2
5362282423. 3
5362282424. 4

Question Number : 6 Question Id : 536228623 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362282421. 1
5362282422.2
5362282423. 3
5362282424. 4

Question Number : 7 Question Id : 536228624 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



What are the activities of teaching associated with its interactive stage?

(A) Planning of lesson
(B) Determining learning outcomes

(C) Prezenting the content interspersed with questions
(D) Providing feedback and probing. if need be

(E) Motivating and monitoring students tasks

Choose the correct answer from the options given below :

(1)  (A). (B) and (C) only (2) (B).(C) and (D) only
(3) (A). (C) and (D) only (4) (C). (D) and (E) only
Options :

5362282425. 1
5362282426. 2
5362282427. 3
5362282428. 4

Question Number : 7 Question Id : 536228624 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362282425 1
5362282426. 2
5362282427. 3
5362282428. 4

Question Number : 8 Question Id : 536228625 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In Gagne's hierarchy of learning which type of learning immediately precedes ‘Rule

learming™?

(1) Problem solving learning (2) Concept learning
(3) Diserimination learning (4) Chain learning
Options :

5362282429. 1



5362282430. 2
5362282431. 3
5362282432. 4

Question Number : 8 Question Id : 536228625 Question Type : MCQ Option Shuffling
Correct Marks : 2 Wrong Marks : 0

.
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(1) === Toree sty (2) TOIF AT
(3) a5z st (4) wEer At
Options :

5362282429. 1
5362282430. 2
5362282431.3
5362282432. 4

Question Number : 9 Question Id : 536228626 Question Type:MCQ.Option Shuffling
Correct Marks : 2 Wrong Marks : 0

: No Is Question Mandatory : No

#»INo Is Question Mandatory : No

In which of the scales of measurement, the properties of elassification ‘and order. both are

present?
(D Nominal (2) Ordinal
(3) Interval (4) Ratio
Options :

5362282433. 1
5362282434.2
5362282435. 3
5362282436. 4

Question Number : 9 Question Id : 536228626 Question Type : MCQ Option Shuffling

: No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

g ATt o i 9o 9 2T T SufeE B R

(1)  =E= (2) FHF
(3) = (4) I
Options :

5362282433. 1
5362282434.2
5362282435.3
5362282436. 4

Question Number : 10 Question Id : 536228627 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I: The purpose of ICT interventions in classroom teaching 1s to promote and
optimise learning outcomes.

Statement IT: Most of the on-line methods like Swayam and MQOCs etc. have the potential
to become effective supplements to/eonventional teaching-learning systems.

In the hight of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are fal=e

(3) Statement I 1s correct but Statement II 1s false
(4) Statement I is incorrect but Statement I 1s true
Options :

5362282437. 1
5362282438. 2
5362282439.3
5362282440. 4



Question Number : 10 Question Id : 536228627 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362282437. 1
5362282438. 2
5362282439. 3
5362282440. 4

Question Number : 11 Question Id : 536228628 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Aszertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A):  Research ethics mandates use of appropriate and authentic procedures to

arrive at truth and advancing solutions to problem.

Reason (R) : Credibility of research 1s not only a przed goal but a prerequisite for

excellence in human pursuit.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (4)
(3) (A) 1s correct but (R) 1s not correct

(4) (A) 1s not correct but (R) 1s correct
Options :
5362282441. 1
5362282442. 2
5362282443. 3
5362282444 . 4

Question Number : 11 Question Id : 536228628 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362282441. 1
5362282442. 2
5362282443.3
5362282444. 4

Question Number : 12 Question Id : 536228629 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List II. List I gives qualitative research perspectives while List IT provides
the central questions addressed by them.

ListI List IT

(A) Ethnography (I) What common set of symbols and
understandings have emerged to give
meaning to people’s interactions?

(B) Heurstics (IT) What 1s the culture of thiz group of
people?

(C) Phenomenology (IIT) What 1= my experience of this
phenomenon?

(D) Symbolic iInteractionism (IV) What 1s the structure and essence of

experience of  this phenomenon for
thosze people?

Choose the correct answer from the options given below :

1) (A-D. B)-IV). (C)-(I1I), (D)-(II)
(2) (A)-(ID). (B)-(ILL). (C)-(IV), (D)-(I)
(3) (A)-(I1D). (B)-(ID). (C)-D). (D)-(IV)
(4) (A)-(IV). (B)-(D). (C)-(II). (D)-(III)

Options :

5362282445. 1

5362282446. 2

5362282447. 3
5362282448. 4

Question Number : 12 Question Id : 536228629 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(3) (A)-(IIL). (B)-(1D). (C)-(D)(D)-(IV)

4)  A-IV), (B)-@. (C)-AI). (D)-(I1I)
Options :
5362282445. 1
5362282446. 2
5362282447. 3
5362282448. 4

Question Number : 13 Question Id : 536228630 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A college teacher intends to study the problems of latecomers 1n the classroom. Which type of
sampling method will be appropriate in this context?

(1) Stratified sampling (2) Random sampling
(3) Purposive sampling (4) Cluster sampling
Options :

5362282449. 1
5362282450. 2
5362282451.3
5362282452. 4

Question Number : 13 Question Id : 536228630 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362282449. 1
5362282450. 2
5362282451.3
5362282452. 4

Question Number : 14 Question Id : 536228631 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



What are the activities which take place during the stage of reconnalssance in action
research?

(A) Identifying and classifving general 1dea
(B) Describing the facts of the situation

(C) Explaining the facts of the situation
(D) Constructing a general plan

(E) Developing the next action steps

Choose the correct answer from the options given below :

(1) (B) and (C) only (2) (A) and (B) only
(3) (C) and (D) only (4) (D) and (E) only
Options :

5362282453. 1
5362282454. 2
5362282455. 3
5362282456. 4

Question Number : 14 Question Id : 536228631 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



ToFaTea= STEaT O HHIETEE TE0 % 0 F 20 i H T R S E 7

(A) =T gEen i TR a9 T
(B)  ufifefaat % qet = ao

(C)  uitfeufaa = dwai =il = He
(D) A AT A

(E) 37T FMfcHs =on =i faehfad = |
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Options :

5362282453. 1
5362282454. 2
5362282455.3
5362282456. 4

Question Number : 15 Question Id : 536228632 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A teacher intends to establish the relationship between educational status of parents and
the scholastic achievement of pupils. Which of the following method of research will be
considered appropriate for this study?

(1) Philosophical method
(2) Historical method
(3) Expost facto method

(4) Experimental method
Options :
5362282457. 1
5362282458. 2
5362282459. 3
5362282460. 4

Question Number : 15 Question Id : 536228632 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
5362282457. 1
5362282458. 2



5362282459. 3
5362282460. 4

Question Number : 16 Question Id : 536228633 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Whach of the following 1s essential in classroom communication?

(1) Frequent repetition of the message 1n different ways
(2) Avoilding repetition of the message

(3) Interrupting the speaker frequently

(4d) Avolding eye contact with students

Options :

5362282461. 1
5362282462. 2
5362282463. 3
5362282464. 4

Question Number : 16 Question Id : 536228633 Question Type:: MCQ:Option:Shuffling:: No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :



5362282461. 1
5362282462. 2
5362282463. 3
5362282464. 4

Question Number : 17 Question Id : 536228634 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Classroom communication involves

(A) Listening by learning

(B) Formal lecturing

(C) Informal discussions

(D) Less importance to feedback

(E) Explaining

Choose the correct answer from the options given below :

(1)  (A). (B). (C) only (2) (B).(C). (D) only
(3  (B). (0. (E) only (4) (C). (D). (E) only
Options :

5362282465. 1
5362282466. 2
5362282467. 3
5362282468. 4



Question Number : 17 Question Id : 536228634 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362282465. 1
5362282466. 2
5362282467. 3
5362282468. 4
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Question Number : 18 Question Id : 536228635 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A) : To be effective 1n the classroom, a teachers should minimise the

communication barriers.

Reason (R) : Since communication 1s a complex process. regular feedback analysis 1s

essential for this purpose.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (4)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 1s correct but (R) is not correct

(4) (A) 1s not correct but (R) 1s correct

Options :

5362282469. 1
5362282470. 2
5362282471. 3
5362282472. 4

Question Number : 18 Question Id : 536228635 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362282469. 1
5362282470. 2
5362282471. 3
5362282472. 4

Question Number : 19 Question Id : 536228636 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Identify the correct chronological sequence of the developers of communicative systems :

(A) Germans
(B) Romans
(C) Sumerians
(D) Chinese

(E) British

Choose the correct answer from the options given below :

1) (A).(0). (B). (E). (D) (2) (O). (B). (Djy (A). (By
(3)  (B). (C). (E), (D). (A) (4) ABNAE) (G) (). (B)
Options :

5362282473. 1
5362282474.2
5362282475.3
5362282476. 4

Question Number : 19 Question Id : 536228636 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) (A (C). (B). (E). (D) (2)H0). (B). (D). (A) B)
(3)  (B).(0).(E) D). A @) (D). (E). (). (A). (B)

Options :

5362282473. 1
5362282474.2
5362282475. 3
5362282476. 4

Question Number : 20 Question Id : 536228637 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with ILast II. Last I gives Modes of Commumnication. while List IT provides their

description

ListI List IT
(Modes of Communication) (Dezcription)
(A) Publicity ()’ Reputation management
(B) Propaganda (ITI) Paid message
(C) Advertising (ITII) Non-commercial promotion
(D) Public relations (IV) Communication with motives

Choose the correct answer from the options given below :

1) A-D. (B)-(ID). (C)-(III). (D)-(IV)
(2)  (AID. (B)AILD. (C)-(IV). (D)-(D)
(3)  A)-AV), (B)-@. (C)-III), (D)-(II)

4 (A)-dI). (B)-(IV), (C)-dD), (D)-(I)
Options :
5362282477. 1
5362282478. 2
5362282479. 3
5362282480. 4

Question Number : 20 Question Id : 536228637 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



o=i-1 =1 g=-I1 & gafea $ifaw

-1 111
(wFeror fafer) (Fereron)
(A) TER @ e vEeE
(B) ITER D) U #E
(C) TammH (D) W anforfsas dae
(D) == =T (IV) FEE FU
Hr T T feepedt § @ wA I 9

1) (A)-@. B)-(1I), (C)-II), (D)-(IV)
(2 (A-ID. (B)-(IIL). (C)-@V). (D)-(I)
3 A-IV), (B)-A). (C)-(II), (D)-(II)

4  AQ)-dm). B)-IV). (C)-(1D). (D)~

Options :

5362282477. 1
5362282478. 2
5362282479. 3
5362282480. 4

Question Number : 21 Question Id : 536228638 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement I : It 1s possible that there are 53 Tuesdays in a non-leap yvear.
Statement II : In a non-leap vear, there are 54 of each day plus one extra day.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are false

(3) Statement I 1s correct but Statement II 1s false
(4) Statement I 1s incorrect but Statement IT 1s true
Options :

5362282481. 1
5362282482.2
5362282483. 3
5362282484. 4

Question Number : 21 Question Id : 536228638 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

we (I): 7 899 = o6 el T-rfead (359 =9 S0 ) S awihl aeambs =t
Fe (ID) :  Tohe T—1iem § ueaeh 29 54 91 374 7 371 U A1 29 76 2 |
SEFd FYAl * ST § T faedi § F HA I =

(1) = I3 I =M oel & |

(2) = I 3R I 2HT 7o 2 |

(3) w19 # g %97 I Te 7 |

(4)  ®y I #5ea ? g = 1A 7 |

Options :
5362282481. 1
5362282482. 2



5362282483. 3
5362282484. 4

Question Number : 22 Question Id : 536228639 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Kavitha collected 8 spiders (with 8 legs each) and beetles (with 6 legs each). When she
counted the legs, she found that there were altogether 54. Which of the following 1s/are true?

(A) She collected 5 spiders
(B) She collected 3 spiders
(C) She collected 5 beetles
(D) She collected 3 beetles

Choose the correct answer from the options given below :

(1) (A) and (C) only (2) (A)and (D) only
(3) (B) and (D) only (4) (B) and(C) only
Options :

5362282485. 1
5362282486. 2
5362282487. 3
5362282488. 4

Question Number : 22 Question Id : 536228639 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Higar 4 8 WHISA (TeF 8 W Arch) R 9T (UAF 6 W A1) THEG R | oW 3E W1 A et fioat
T T 39 F T 54 o | e § ¥ S iE-E1/HE -0 TaE e

(A)  FEF b THISA UHEE H |

(B) 35 3 HHISAT UHLE H |

(C) 35 5 971 UHEA #l |

(D) IEF 3 97 UHEE H

Fr T2 T faret § @ @R I R

(1)  #a9 (A) 37 (C) only (2) =ae (A) #E (D) only

(3)  Fa= (B) 317 (D) only (4) Fa (B) 37 (C) only

Options :

5362282485. 1
5362282486. 2
5362282487. 3
5362282488. 4

Question Number : 23 Question Id : 536228640 Question Type: MCQ . Option.Shuffling.: No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Complete the series :

R Ty
1 75 2 76
3 77 @ 78

Options :

5362282489. 1
5362282490. 2
5362282491. 3
5362282492. 4

Question Number : 23 Question Id : 536228640 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



2.5,9.19.37,.....

(1) 75 (2) 76

(3) 77 (4) 78
Options :

5362282489. 1
5362282490. 2
5362282491. 3
5362282492. 4

Question Number : 24 Question Id : 536228641 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

At what time between 2 and 3 oclock will the hour hand and minute hand of a clock
together?

(D 1(3H min. past 2 () 1{}E min. past 2
10 11
10 . :

(3) 11ﬁ min. past 2 (4) Dbilpmin. gpast 2

Options :

5362282493. 1
5362282494. 2
5362282495. 3
5362282496. 4

Question Number : 24 Question Id : 536228641 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(1) 239 1{]%1’54:12147. (2) 25 10%1%1?:117
(3) 2= 11% e m (4) 233 1192 W

Options :

5362282493. 1
5362282494. 2
5362282495. 3
5362282496. 4

Question Number : 25 Question Id : 536228642 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The average of seven consecutive numbers 1s 33. The largest of these numbers1s

(1) 39 (2) “34
(3) 30 (4) 38
Options :

5362282497. 1
5362282498. 2
5362282499. 3
5362282500. 4

Question Number : 25 Question Id : 536228642 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OTq HiHF ST &1 9d 33 | =90 © Oed 931 o 201 -

(1) 39 (2) 34
(3) 36 (4) 38
Options :

5362282497. 1



5362282498. 2
5362282499. 3
5362282500. 4

Question Number : 26 Question Id : 536228643 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The second member of the N¥aya syllogism which states the reason for the establishment of
the proposition 1s called.

(D Pratyna (2) Hetu
(3) Udaharana (4) Upnaya
Options :

5362282501. 1
5362282502. 2
5362282503. 3
5362282504. 4

Question Number : 26 Question Id : 536228643 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T 23 H SAETEE = SEl HETE ATARET %l AT [ o q5 2dl 2y BH EE ATl -

~

1) vl 2 =3
(3) L A (4) 373
Options :

5362282501. 1
5362282502. 2
5362282503. 3
5362282504. 4

Question Number : 27 Question Id : 536228644 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



In the argument. ‘sky flower 1s fragrant because 1t 1s a lotus’ e.g. which ever 1s lotus, 1s
fragrant e.g. lotus growing in that pond’

Mention the type of fallacy from the following :

(1) Swaroopasidha (2) Ashrvasidha
(3) Vyaptytvasidha (4) Virudha
Options :

5362282505. 1
5362282506. 2
5362282507. 3
5362282508. 4

Question Number : 27 Question Id : 536228644 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

"STRIIEHEN Y & i A8 HAd ) 3SE  OE 5 4 FAG ST 8 98 g el oy wd
AT § FH T FEA |

Tq 9% § fetiad § § E s # Seeig A T o

(1)  ==uig (2) g
(3) Aeaig (4) =8
Options :

5362282505. 1
5362282506. 2
5362282507. 3
5362282508. 4

Question Number : 28 Question Id : 536228645 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List II. List I gives the four types of fallacies while List II explains their
description.

List I List IT

(A) Asidha (). ' Here the middle term 1= contradicted
by another middle term.

(B) Savyabhichara (II) Here the middle term 1= contradicted
by some other pramana and not by
inference.

(C) Satpratipaksha (IIT) It 1s the fallacy of the irregular middle

(D) Badhita (IV) It 1s the fallacy of the unproved middle

Choose the correct answer from the options given below :

(1) (A)-(ID). (B)-(I), (C)-1D). (D)-(IV)
(2) (A)-(I1I), (B)-(IV), (C)-(II). (D)-(I)
(3) (A)-(I), (B)-(ID), (C)-(IV). (D)-(I1T)
(4) (A)-(IV), (B)-(IID), (C)-(I), (D)-(II)
Options :

5362282509. 1

5362282510. 2

5362282511.3

5362282512. 4

Question Number : 28 Question Id : 536228645 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



=i1-1 1 gefi-I1 @ gufaa Fifsw - g=i-1 5 9% 960 F ZcamE 2 s= s ge=-10 § 3761 = 4 6 2

=1 T=i-11
(B) w=iHEN i) mﬁj}‘rmuﬁaﬁﬂqmgm:rfm
foFT 37— woTor 2 BT 2
(C) TamfaIs AID) == A=A =0 F1 5o 7 |
D) @A AV) Iz AfEg =q F1 219 2 |

4= 21 T faeal § ° 9E 39 =99 A

1) (A)-(ID). (B)-(I), (C)-(I1I). (D)-(IV)
(2) (A)-(III). (B)-(IV). (C)-(II). (D)-(D)
(3) (A)-(D), (B)-(ID), (C)-@V). (D)-(I1I)
(4 (A)-(IV). (B)-(ID). (C)-(I). (D)-(II)

Options :

5362282509. 1

5362282510. 2

5362282511.3

5362282512. 4

Question Number : 29 Question Id : 536228646 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as
Reaszon (R) :

Assertion (A): Indian Philosophy has been 1ntensely spiritual and has always

emphasized the need of practical realization of truth.

Reason (R) : The wood ‘darshana’ means “vision’ and also the instrument of vision
which stands for the direct immediate and intuitive vision of Reality and

also includes the means which lead to this realization.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 15 correct but (R) 1s not correct

(4) (A) 1s not correct but (R) 1= correct
Options :
5362282513. 1
5362282514. 2
5362282515.3
5362282516. 4

Question Number : 29 Question Id : 536228646 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



19 3 T R T E ;v AT (A) 3R g A (R) T TR

ATFA (A) : qNATE 99 e B9 H AGACHF TE 2 SIW SHH EHO Al @ed i SAamih ftg i
HTETThdl 9 & {331 77 2|

e~ 1 [ i

T (R) : ‘T wme w1 wfygE g awr gfe w mea 2 S AW % uesw, dieRias ud

I UHCHF 38 H UAE 7 A9 THY 9% WaEed o Win & 5 58 Eg i om A

Al = |

ITF FYA F AR A G e § ¥ FaieE S9gEd I T4

D Q) 3R ®) 3 #7270 (R). (A) Fi T75 == E
@ (A 3 ®) I A F T R). (A) T = @ e
@ (A= 2w R)FE T R

@) (A =F TE 2w (R) TE A
Options :
5362282513. 1
5362282514.2
5362282515.3
5362282516. 4

Question Number : 30 Question Id : 536228647 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I : In Indian Philosophy., Nyayva advocates the theory of extrinsic validity of

knowledge called “Paratah Pramanvad”.

Statement II: The Mimansa advocates the self-validity of knowledge both in respect of its

origin and ascertalnment.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I 1s correct but Statement II 1s incorrect

(4) Statement I 1s incorrect but Statement I 1s correct
Options :

5362282517. 1
5362282518. 2
5362282519. 3
5362282520. 4

Question Number : 30 Question Id : 536228647 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



ﬁﬁﬁ$ﬂq%ﬁﬂﬁ%
Fo (I):  9WA 2909 8 =" A9 % "5 4997 1 GHGE £ 1A WdTHEE Ha 66 F

o (1) :  Seats st fafo =i 2fe & A 59 6 sete dua i ands 2)
ITHF FHUA F A H iihd fawent @ @ gt sugEd 39 a9

(1) = I3 I3 @3 |
(2)  ®ud IR IL 29 31 98 7 |
(3) tF?]:[IH‘ﬁ%‘%WHH?ﬁ:[ﬁ?'

(4) % 157 7 7 fohg a5 2 |

Options :

5362282517. 1
5362282518. 2
5362282519. 3
5362282520. 4

Question Number : 31 Question Id : 536228648 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Microsoft Access, Oracle and SQL are example of

1D File Data Base (2) Relational Data Base
(3) Template (4) Attmbute
Options :

5362282521. 1
5362282522.2
5362282523. 3
5362282524. 4

Question Number : 31 Question Id : 536228648 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TTSH T UFHE, SAF 37 U8 99 U Hetenad § o e 22w

(1) IS STel SE (2) TewEe = aE
(3) e (4) N
Options :

5362282521. 1
5362282522.2
5362282523. 3
5362282524. 4

Question Number : 32 Question Id : 536228649 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Operating system 1s an interface between

(1) Software and hardware (2) Compiler and hardware
(3) User and Computer (4) Program and software
Options :

53622825251
5362282526. 2
5362282527.3
5362282528. 4

Question Number : 32 Question Id : 536228649 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1)  =iFeam 3R e (2) TSR FHN FTESAA
(3) I AN FHEEEE (4) " T BT AT
Options :

5362282525. 1
5362282526.2
5362282527.3
5362282528. 4

Question Number : 33 Question Id : 536228650 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which technology 1s used for crypto currency?

(1 Java (2) Block chain
(3) Block code (4) Python
Options :

5362282529. 1
5362282530. 2
5362282531. 3
5362282532. 4

Question Number : 33 Question Id : 536228650 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Tl FAHT 7 e el W T R ST e Y

(1) = (2) =0 91

(3) = W= 4) | IE=E
Options :

5362282529. 1
5362282530. 2
5362282531. 3
5362282532. 4

Question Number : 34 Question Id : 536228651 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I : Internet 1s the largest information base and has become a vital part of our
lives.

Statement IT : HTML 1s an incomplete code package that allows a user to create web pages.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false

(3) Statement I 1s correct but Statement II 1s false
(4) Statement I 1= incorrect but Statement II 1s true
Options :

5362282533. 1
5362282534.2
5362282535.3
5362282536. 4

Question Number : 34 Question Id : 536228651 Question Type.: MCQ Option Shuffling.: No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



= = e By E

wo (1) : 202 =1 1 Ha 951 ATER 7 A0 97 291 S99 1 Hecadol S 94 T4 |
e (1) : HTML U Ag0 H7S T & 1 T g1 98 95 S 999 55T 7 |
T FHAA F AT A AR [FHeT §H FA I

(1)  FFEIAR I 74 2 |

(2 FFEIAIZA =4z |

(8) v\ @ 2 fohg e I 7Terd 7 |

(4)  FF I 3mca 2 g oA & 2 |

Options :

5362282533. 1

5362282534.2

5362282535.3
5362282536. 4

Question Number : 35 Question Id : 536228652 Question Type: MCQ Option Shuffling: No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Full form of the abbreviation CPS 1s :

(1) Computer Program Software
(2) Control Process Software

(3) Cyber Physical Software

(4) Cyber Phys=ical System

Options :

5362282537. 1
5362282538.2
5362282539. 3



5362282540. 4

Question Number : 35 Question Id : 536228652 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

CPS fi=iferfiga § o g ofiqea =g 27
(1) g T0H AR

(3)  =E fFfase aiedsn

(4) T TREe =n

Options :

5362282537. 1
5362282538.2
5362282539. 3
5362282540. 4

Question Number : 36 Question Id : 536228653 Question Type.: MCQ Option Shuffling.: No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following conventions protocol originated from Rio Earth Summit?

(A) UN Framework convention on climate change
(B) Ramsar convention on wetlands
(C) UN convention to combat desertification

(D) Eyoto Protocol
(E) Convention on Biological Diversity

Choose the most appropriate answer from the options given below :

(1) (A). (B) and (E) only (2) (A). (C). (D) and (E) only
(3)  (A). (C) and (E) only (4) (B). (C). (D) and (E) only
Options :

5362282541. 1



5362282542.2
5362282543.3
5362282544. 4

Question Number : 36 Question Id : 536228653 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FeAfefad § ¥ FF F F99E [T i Seafed FEl gzt o ares O 557
) Y Hel T e

(C) WUl | THAH F o0 JIFd 78 Fa7H
(D) AT WEERA

o

Fr= T = ool 0 @ wE S 9
(1) mc—wr (A). (B) =17 (E) 2 ma (A). (C). (D) mt (E)
(3) A= (A), (C) A1 (E) (4) === (B). (C). (D) 3T (E)

Options :

5362282541. 1
5362282542.2
5362282543. 3
5362282544. 4

Question Number : 37 Question Id : 536228654 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following goals are part of Sustainable Development Goals?

(A) Industry. Innovation and Infrastructure
(B) Universal higher education

(C) Reduced Inequality

(D) Partnerships to achieve goals

(E) Clean air

Choose the correct answer from the options given below :

(1) (A).(B). (C) and (D) only (2) (A). (C) and (D) only
(3)  (A). (B). (C) and (E) only (4) (B). (C). (D) and (E) only
Options :

5362282545. 1
5362282546. 2
5362282547.3
5362282548. 4

Question Number : 37 Question Id : 536228654 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

fr=feifiga 9 ¥ 19 o 515 Oad. [a@E @531 8 e 2 7

(A)  FE, TEEE AR ASEE
(B) =i = Tomw 3= o

(C)  =/@grar § =i

(D)  =%F 9T FA F e 'EEreE
(E) w=== a4

Fra T T faei § ® wE Im g

(D F= (A). (B). (O) T (D) (2) = (A), (C) =R (D)

(3)  Fa (A). (B). (C) 31 (E) (4) Fa= (B). (C). (D) 31 (E)
Options :

5362282545. 1
5362282546.2



5362282547.3
5362282548. 4

Question Number : 38 Question Id : 536228655 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following countries in increasing order of their installed capacities of wind
energy (as on 2018) :

(A) China
(B) India
(C) USA
(D) France

(E) Germany

Choose the correct answer from the options given below :

(1) (D) < (E) <(C) < (B) =(A) (2) (D) =(E) = (B)= (C)=(A)
(3) (D) = (B) =(E) <(C) =(A) 4 (E)y<=)<@B) <) <@A)
Options :

5362282549. 1
5362282550. 2
5362282551. 3
5362282552. 4

Question Number : 38 Question Id : 536228655 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



frAfefiaa 2o =t 1 Tam et $1 geurug agar (2018 F1 foufd & 99ER) % §ed %9 9 7

@ .

(B)  und

(C) 4T

D) %=

(E) =

< fot m foet 9 A A 3 R

1 O=E=0)=B=A) 2) D) <(E)<B)<(C)<®)

3B D=B=<E=0C=A 4) (E)=[D)=@B)=(C)=@A)
Options :

5362282549. 1
5362282550. 2
5362282551.3
5362282552. 4

Question Number : 39 Question Id : 536228656 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement I : Sunlight 1s a pre-requisite for the formation of photochemical smog in urban
areas.

Statement IT : Photochemical smog 1s a recurring phenomenon in winter and summer
seasons 1n urban areas of India.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement I are true
(2) Both Statement I and Statement II are false

(3) Statement I 1s correct but Statement II 1s false
(4) Statement I 1s incorrect but Statement Il 1s true
Options :

5362282553. 1



5362282554. 2
5362282555. 3
5362282556. 4

Question Number : 39 Question Id : 536228656 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

wuA (I): 9= &l § e TEEEE - o A % e gd w wee v gaia # |

FoF (1) : THFEREEAF gH-FE0 GG & TR EE § WAEe 9 GEe § aR-an wH A
r,:ré..|

IYGFA HEAT T AT H IR ST # E HA 3 A
(1) = [ 3R 2 =46 & |
(2  FF I3R I3 7o 2 |
(8) WA I°ea # fohg %% 11 Ted 2 |
4) [ wme B i o M a = |
Options :
5362282553. 1
5362282554. 2

5362282555. 3
5362282556. 4

Question Number : 40 Question Id : 536228657 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as
Reason (R) :

Assertion (A):  Global warming potential of a molecule of a greenhouse gas over different
time spans of decades to 100 years may vary significantly.

Reason (R) : Some greenhouse gases have shorter life times compared to carbon
dioxade.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 15 correct but (R) 1z not correct

(4) (A) 1s not correct but (R) 1s correct

Options :

5362282557. 1

5362282558. 2

5362282559. 3
5362282560. 4

Question Number : 40 Question Id : 536228657 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



T 31 FoA fam e 2 A T uE F s (A) o g w aE (R) FE T

AR (A) : 9 U A 100 997 o HAT-FAT THAEUE] § A1 7EE 1 % o) F dfvas am
o Tig F 1 AT H B S B Gl E |

TF (R) : F3 T30 17T F1 SaHe FE- 312 3A7aes il 9o 4 F9 =41 2 |
ST YA A H TR fahedl § H Salah S9ged 3o T

(1) (A 3R ®) A FA 2 i (R), (A) F w7 = E
(2) (A @R ®)FA T E WA (R), (A) T e 6 A
(3 (A= 2w (R) wE T 2

(4 (A TH AF 2 wd R) T= 2

Options :

5362282557. 1
5362282558.2
5362282559. 3
5362282560. 4

Question Number : 41 Question Id : 536228658 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Teacher-Education 1nstitutions belong to which of the following category?

(1) Non-conventional (2) Technical
(3) Professional (4) Skill bazed

Options :

5362282561. 1
5362282562. 2
5362282563. 3
5362282564. 4



Question Number : 41 Question Id : 536228658 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Torers —foreqor T Fe=rfeifaa 9 o e gl 9 s 27

(1)  T-unie @) T
(3)  =EERE (4) Fiord aEE
Options :

5362282561. 1
5362282562. 2
5362282563. 3
5362282564. 4

Question Number : 42 Question Id : 536228659 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I : Universities of Nalanda. Taxsila and Vikramshila of ancient India are now
all located 1n the Indian Territory!

Statement IT: The entrance test of 1its own kind was prevalent 1n the ancient seats of
learning of India.

In the light of the above statements. choose the most appropriate answer from the options
eiven below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I 1s correct but Statement Il 1s incorrect

(4) Statement I 1s incorrect but Statement II 1s correct
Options :

5362282565. 1
5362282566. 2



5362282567. 3
5362282568. 4

Question Number : 42 Question Id : 536228659 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

e =1 A fZu o E
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AT |
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(1) % 3R M2 858 2 |

AT = 1 A o o

(3) w14 2 fvd e 11921 =70 2 |
(4) w9 58 A7 ¢ hd =y [THE = |

Options :

5362282565. 1
5362282566. 2
5362282567. 3
5362282568. 4

Question Number : 43 Question Id : 536228660 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Atal Ranking of higher education institutes and umversities 1s related to achievements in

(1) Basic sciences research

(2) Innovation and entrepreneurship development

(3) Distance mode education

(4) Promotion of environmentally sustainable practices.
Options :

5362282569. 1
5362282570. 2
5362282571. 3
5362282572. 4

Question Number : 43 Question Id : 536228660 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

wea foren weaml iR favafamrel $i sz o fefalas 3 @ B swfsaal & am 9d 27
(1) fifer fasm sEan

(2) AN AR I EE

(3) Ty e W=
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Options :

5362282569. 1
5362282570. 2
5362282571.3
5362282572. 4

Question Number : 44 Question Id : 536228661 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the basic values which can be characterized by the central motivational goal are
related to self transcendence?

(A) Conformity
(B) Power

(C) Benevolence
(D) Universalism
(E) Hedonism

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B)and (C) only
(3) (C) and (D) only (4) (D) and (E) only

Options :

5362282573. 1
5362282574.2
5362282575. 3
5362282576. 4

Question Number : 44 Question Id : 536228661 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Frald U 3evA (He® ZIHSE JH SN -8 ST Seneid (AT ogEey ) d feiad @ ¢
@)  FEE

(B) T4
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(B) TR
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1) = (A) 30 (B) (2) =a= (B) #R (C)

(3)  Fa= (C) 3 (D) (4) Fa= (D) 3R (E)

Options :
5362282573. 1
5362282574.2



5362282575.3
5362282576. 4

Question Number : 45 Question Id : 536228662 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I : Holistic education 1n ancient India was not just acquisition of knowledge as
preparation for life in this world or Iife beyvond schooling but for complete
realisation and liberation of the self.

Statement I : Values of plura_]is;:a, mutual understan-_:iing and peace constituted the
foundation of holistic education during ancient education.
In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement IT are true
(2) Both Statement [ and Statement II are false

(3) Statement I 1s correct but Statement II 1s false
(4) Statement I is incorrect but Statement II 1s true
Options :

5362282577. 1
5362282578. 2
5362282579. 3
5362282580. 4

Question Number : 45 Question Id : 536228662 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362282577. 1
5362282578. 2
5362282579. 3
5362282580. 4

Sub-Section Number : 3
Sub-Section Id : 53622827
Question Shuffling Allowed : Yes

Question Id : 536228663 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (46 to 50)

Question Label : Comprehension



Read the passage carefully and answer questions from 46 to 50.

‘Being value-centred 1s important to the experence of fulfilment 1n my life: Here the thought
has the stamp of the core concept of ‘'value-centred’ and ‘fulfilment’. This 1s good. However, 1t
has yet not moved Into creative 1imagination of how this can be made possible 1n reality.
Thus, 1t runs the risk of becoming an opinion or simply. a nice thought. ‘A value-centred life
1s tough 1n today’s world. This thought formation could arise from a past experience where
life was made difficult by being value-centred. Also. there could be stories and imagined
scenarios being created in the mind. ‘what if...", ‘what if not...", ete. This could be related to
the comfort-seeking nature of the senses and a part of the vital hife-force that wants to take
the easy way out. If one's core essential concept 1z fulfilment, these imaginary formations
can be halted and the thought can be frozen. Now one can note that without the clarty that
the core principle 1s ‘fulfilment’. this imagination will often be allowed to fashion and
complete its formation. Thig in turn, will affect the quality of our life and the choices made
then may not serve the ‘fulfillment’ wvalue of the individual. The idea force can use its
sanctioning power to move those thought formations that are aligned to the core concept of
‘value-centred hiving’ and fulfilment and make stillyer,rejeetsthosethought.formations that
fed by ‘fear’. ‘anxiety’. ‘desire for compromised quickemsuceess’, ete. And ifiagvalue or ideal is
not clear. it can reach back to the pure mind for further elarity.

Sub questions

Question Number : 46 Question Id : 536228664 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What 1s needed for self-fulfilment?

(1) Focus on values (2) Stamping of the core concept
(3) good thoughts (4) Experience 1n life
Options :

5362282581. 1



5362282582.2
5362282583. 3
5362282584. 4

Question Number : 47 Question Id : 536228665 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The thought of value-based life as tough can be attributed to

(A) being value-centred
(B) past experiences of difficulty
(C) wild imaginations

(D) the inclination to be in a comfort zone

Choose the correct option :

(1) (A) and (B) (2) (B)and (D)
(3)  (B)and (C) (4 {Cyand(D)
Options :

5362282585. 1
5362282586. 2
5362282587. 3
5362282588. 4

Question Number : 48 Question Id : 536228666 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



How can an individual move away from imaginary formations about value-centredness?
(1) By freezing one's own thoughts of good life

(2) By having nice thoughts about values in life

(3) By being clear about fulfilment of Iife

(4) By being fashionable about the core concept of life

Options :

5362282589. 1
5362282590. 2
5362282591. 3
5362282592. 4

Question Number : 49 Question Id : 536228667 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The vague 1deas of value-centred life for self-fulfillment wall

(1) disturb the comforts of life (2) lead to creative imaginations
(3) promote good quality of life (4) reject the v&fy valui€s sought after
Options :

5362282593. 1
5362282594. 2
5362282595.3
5362282596. 4

Question Number : 50 Question Id : 536228668 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What 1s the assertion of the author of the passage?

(1) value-centred life 15 an unclear thought
(2) The principle of value-centredness 1s a difficult proposition to achieve
(3) Many factors aligned with value-centredness are negative in character

(4) Today's world 1s not for any value system



Options :

5362282597. 1
5362282598. 2
5362282599. 3
5362282600. 4

Question Id : 536228663 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 536228664 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1} H_rﬁ"-;l- LET I :.hf-_-j_ﬂ -_{-,{:1 ‘ﬁ (2} J._i','_hg',_g,j ST _-Fr TaTT 'ﬁ |
(3) o= fa=m H @) e § I

Options :

5362282581. 1
5362282582.2
5362282583. 3
5362282584. 4

Question Number : 47 Question Id : 536228665 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362282585. 1
5362282586. 2
5362282587.3
5362282588. 4

Question Number : 48 Question Id : 536228666 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :



5362282589. 1
5362282590. 2
5362282591. 3
5362282592. 4

Question Number : 49 Question Id : 536228667 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ATH-THAMm F &0 gea-hisd iEd F 392 ==
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Options :

5362282593. 1
5362282594.2
5362282595. 3
5362282596. 4

Question Number : 50 Question Id : 536228668 Question Type.:; MCQ Option Shuffling.: No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362282597. 1
5362282598. 2
5362282599. 3
5362282600. 4



PART II Assamese

Section Id : 53622810
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 53622828
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 536228669 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘T STEEe Wi SENEET qibal Se R Nas e giEas T, Bl B HE. G o, taike oiF Wit Sege
il Ty

(1) At e fios (@) FoFEEs Ao
(3) T TAFTas oo (@) fooe st froo
Options :

5362282601. 1
5362282602. 2
5362282603. 3
5362282604. 4

Question Number : 51 Question Id : 536228669 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362282601. 1
5362282602. 2
5362282603. 3
5362282604. 4

Question Number : 52 Question Id : 536228670 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362282605. 1
5362282606. 2
5362282607. 3
5362282608. 4

Question Number : 52 Question Id : 536228670 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362282605. 1
5362282606. 2
5362282607. 3
5362282608. 4

Question Number : 53 Question Id : 536228671 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362282609. 1
5362282610. 2
5362282611. 3
5362282612. 4

Question Number : 53 Question Id : 536228671 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1)  =tEsm (2) swere
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Options :

5362282609. 1
5362282610. 2
5362282611.3
5362282612. 4

Question Number : 54 Question Id : 536228672 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) 3t poe =t () AFES g
(3) FISTCAEA J1Y (4) ey @95
Options :

5362282613. 1
5362282614.2
5362282615.3
5362282616. 4

Question Number : 54 Question Id : 536228672 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362282613. 1
5362282614.2
5362282615. 3
5362282616. 4

Question Number : 55 Question Id : 536228673 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362282617. 1
5362282618. 2
5362282619. 3
5362282620. 4

Question Number : 55 Question Id : 536228673 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362282617. 1
5362282618. 2
5362282619. 3
5362282620. 4

Question Number : 56 Question Id : 536228674 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362282621. 1
5362282622.2
5362282623. 3
5362282624. 4

Question Number : 56 Question Id : 536228674 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362282621. 1
5362282622.2
5362282623. 3
5362282624. 4

Question Number : 57 Question Id : 536228675 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

Correct Marks : 2 Wrong Marks : 0
i _ . ; i — . ﬁ:;_ -~ P o o P o TEPES . SRR gz
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Options :

5362282625. 1
5362282626. 2
5362282627. 3
5362282628. 4

Question Number : 57 Question Id : 536228675 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

Correct Marks : 2 Wrong Marks : 0
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5362282625. 1
5362282626. 2
5362282627. 3
5362282628. 4

Question Number : 58 Question Id : 536228676 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

SooEs Sro-rottfarw® Fia SewEiteT Sgain Fat (90T ISR -

(1) g 97! (2) W STTS!
(3)  m et (4) Higg I
Options :

5362282629. 1
5362282630. 2
5362282631. 3
5362282632. 4

Question Number : 58 Question Id : 536228676 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1)  TREg Fxe! (2) 7 FIFST
(3) TG P (4) g T
Options :

5362282629. 1
5362282630. 2
5362282631.3
5362282632. 4

Question Number : 59 Question Id : 536228677 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0
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Options :

5362282633. 1
5362282634.2
5362282635.3
5362282636. 4

Question Number : 59 Question Id : 536228677 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Tt AT IED Ioa Tt 94T JE T
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Options :

5362282633. 1
5362282634.2
5362282635.3
5362282636. 4

Question Number : 60 Question Id : 536228678 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362282637. 1
5362282638. 2
5362282639. 3
5362282640. 4

Question Number : 60 Question Id : 536228678 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362282637. 1
5362282638. 2
5362282639. 3
5362282640. 4

Question Number : 61 Question Id : 536228679 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362282641. 1
5362282642. 2
5362282643. 3
5362282644. 4

Question Number : 61 Question Id : 536228679 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(3)  @cfifeat It (4) THEN oot
Options :

5362282641. 1
5362282642.2
5362282643. 3
5362282644. 4

Question Number : 62 Question Id : 536228680 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1) ‘oos’s (2) ‘oTitatat oEmEre
(3) wiEEE'w® (4) ‘TS
Options :

5362282645. 1
5362282646. 2
5362282647. 3
5362282648. 4



Question Number : 62 Question Id : 536228680 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1) ‘oolrs (2) ‘SRSt SEEre
(3) ‘wiEEAE'w (4) ‘TIPS
Options :

5362282645. 1
5362282646. 2
5362282647. 3
5362282648. 4

Question Number : 63 Question Id : 536228681 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Sfeaises NIE-TeHas T T°a

(1) o stopstt (2) e
(3)  wwiohEt (4) Satete
Options :

5362282649. 1
5362282650. 2
5362282651. 3
5362282652. 4

Question Number : 63 Question Id : 536228681 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362282649. 1
5362282650. 2
5362282651. 3
5362282652. 4

Question Number : 64 Question Id : 536228682 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘Frmye’ steiatt featreers Ay

(1) S (2) =EePig

(3)  FAteits 4) s
Options :

5362282653. 1
5362282654. 2
5362282655.3
5362282656. 4

Question Number : 64 Question Id : 536228682 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘T’ AtEISET featsees afyy
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Options :

5362282653. 1
5362282654. 2
5362282655.3
5362282656. 4

Question Number : 65 Question Id : 536228683 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

I ST ='a

(1) 9% eyl Fongst (2) aft Sewg

3) aRgTs @) it fe
Options :

5362282657. 1
5362282658. 2
5362282659. 3
5362282660. 4

Question Number : 65 Question Id : 536228683 Question Type.: MCQ,Option Shuffling.: No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

e N e
(1) 9% @ Fongst (2) «ft Tewg
(3) ARY T @) afit e
Options :

5362282657. 1
5362282658. 2
5362282659. 3
5362282660. 4



Question Number : 66 Question Id : 536228684 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Fiet ‘T’ Tesg el

(1)  =iofhE =iisaifs (2) TiefE sToaife
(3) wIme wEaEifs (4) wEme Aaatfs
Options :

5362282661. 1
5362282662. 2
5362282663. 3
5362282664. 4

Question Number : 66 Question Id : 536228684 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Fiet ‘T’ BeT G-

(1) =i wrioaihe (2) AhoiE= S TodIS
(3) e wEite (4) ‘wEfEe Teaife
Options :

5362282661. 1
5362282662. 2
5362282663. 3
5362282664. 4

Question Number : 67 Question Id : 536228685 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



IS FUT CLGHMTET 7o GIIOINCeT AFE I oI5 AT SHCSIH! 27e1-

(1) R % EE 24 I [ 5
(3) afEw (4) TAE
Options :

5362282665. 1
5362282666. 2
5362282667. 3
5362282668. 4

Question Number : 67 Question Id : 536228685 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

AT PAIT CLEMATUTHET 700 SiNoIste A5SH T ot ST S SinT g e -

(1) e (2) A
(3) e (4) mEEiEEsT
Options :

5362282665. 1
5362282666. 2
5362282667. 3
5362282668. 4

Question Number : 68 Question Id : 536228686 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(1) T (2) T
(3)  TFART (4) Tecew
Options :

5362282669. 1
5362282670. 2
5362282671.3
5362282672. 4

Question Number : 68 Question Id : 536228686 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(L mF (2) T
(3) TR (4) Serewt
Options :

5362282669. 1
5362282670. 2
5362282671. 3
5362282672. 4

Question Number : 69 Question Id : 536228687 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



{Tﬁiﬂzﬂg "ig (g 992
39 9SS (oTies 5o 492 1 -*Eac fefoe 92 Ioaifts ow-

(1)  ©ohem (2) oot
(3) (4) ToIE:
Options :

5362282673. 1
5362282674.2
5362282675.3
5362282676. 4

Question Number : 69 Question Id : 536228687 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

33 IifTw (=1eT o 492 17 S5 S9ibe 92 I6A10T T

(1) Ghoa (2) eioE

(3) B (4) oo
Options :

5362282673. 1
5362282674.2
5362282675. 3
5362282676. 4

Question Number : 70 Question Id : 536228688 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



WG T 11 si-

(1) CaF (2) ©eHAlE
(3) = (@ e
Options :

5362282677. 1
5362282678. 2
5362282679. 3
5362282680. 4

Question Number : 70 Question Id : 536228688 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

aTE 99 1R wig-

(1)  Terrd (2) TR
(3) o= (4) ghoiT
Options :

5362282677. 1
5362282678. 2
5362282679. 3
5362282680. 4

Question Number : 71 Question Id : 536228689 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



‘TIIET WiTeT ot wTift Per et T |
Tafe mex Iro! AR A o 1|

oiF iy papie 9 O |

B!, #1Bt, Cdiat Sat for st Bicer 117

-3 Firerrien dhefatg st =iy g'a-

(1) ISEICES @ 9
(3) oA @) =go
Options :

5362282681. 1
5362282682. 2
5362282683. 3
5362282684. 4

Question Number : 71 Question Id : 536228689 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘THIAT TCeT CoT (aifer ey e e |
Tafer mez Frol AR AR AT

oiF Wiy GApe 9 @i |

P!, I, it St foe et witer 11

- % Fiyerwwe dAfsHtryg w3t 3991y g'a-

(3) dieed )

Options :

5362282681. 1
5362282682. 2
5362282683. 3



5362282684. 4

Question Number : 72 Question Id : 536228690 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘Best words 1n best m"der'—‘s[%f Tlaetg Aot e o G ofam

(1)  sTeay (2) T
(3) FrElEm 4 TS o
Options :

5362282685. 1
5362282686. 2
5362282687. 3
5362282688. 4

Question Number : 72 Question Id : 536228690 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘Best words 1n best order’-ﬁ Tlaols A T TG BEeE

(1) szvay (2) \Enet
(3) FrelEm (4) TS =T
Options :

5362282685. 1
5362282686. 2
5362282687. 3
5362282688. 4

Question Number : 73 Question Id : 536228691 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(1) = SoEeT (2) TF SIS
(3) A ot (4) TEFIE ST
Options :

5362282689. 1
5362282690. 2
5362282691. 3
5362282692. 4

Question Number : 73 Question Id : 536228691 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1) = SoEm (2) TH GATIH
(3)  FArmifss Soais (4) FEETEetTE
Options :

5362282689. 1
5362282690. 2
5362282691. 3
5362282692. 4

Question Number : 74 Question Id : 536228692 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A short story 1= a prose narration requiring from half an hour to one or two hours in 1its

perusal’ -{% ﬁ”‘ﬂﬁ steEt famels SiEid 37a-

(1) ST ATETe Coft (2) «3p.f&.@es
(3)  =ifoen wifee (4) TSEG T
Options :

5362282693. 1
5362282694. 2
5362282695. 3
5362282696. 4

Question Number : 74 Question Id : 536228692 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘A short story 1= a prose narration requiring from half an hour to one or two hours in its

perusal’ —{% QFB‘*“HH Sieest fmsiT SIaiet 37e-

(1) JTSHT ATeTT ot (2) EERisaEEe
(3)  atfoess wifés (4) |[BOE0 a
Options :

5362282693. 1
5362282694. 2
5362282695. 3
5362282696. 4

Question Number : 75 Question Id : 536228693 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



‘FReeitg IS’ (Oedipus complex) T TEMMCBIT FBi-

(1)  tem (2) fostmre Fom
(3)  af¥Ece (4) TRferT ST
Options :

5362282697. 1
5362282698. 2
5362282699. 3
5362282700. 4

Question Number : 75 Question Id : 536228693 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘Foeity Iacas’ (Oedipus complex) FiF TowoT Tai-

(1)  tem (2) Toottes FoEm
(3)  afg8cea (4) JBEETTILEEME
Options :

5362282697. 1
5362282698. 2
5362282699. 3
5362282700. 4

Question Number : 76 Question Id : 536228694 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(1) Tyw Féw (2) wAtomE
(3) TRTIGIT 4 <=t oeEEt TiRew
Options :

5362282701. 1
5362282702. 2
5362282703. 3
5362282704. 4

Question Number : 76 Question Id : 536228694 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1)  figw Fdmw 2 ot
(3) T« oA (4) WEER e A
Options :

5362282701. 1
5362282702. 2
5362282703. 3
5362282704. 4

Question Number : 77 Question Id : 536228695 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



‘ot Feft 7l srfest ate’ - Sqe s ‘Tufsat =wot

(1) e feFat (2) it feret
(3) YT foFt (4) TIPS fawat
Options :

5362282705. 1
5362282706. 2
5362282707. 3
5362282708. 4

Question Number : 77 Question Id : 536228695 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘RrafE RefE w1 snfsat ane’ - Sge srwies ‘Tatfeat swwt

(1) i et (2) Tt ferat
(3) FrEre et (4) maE fEat
Options :

5362282705. 1
5362282706. 2
5362282707. 3
5362282708. 4

Question Number : 78 Question Id : 536228696 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



SIYGI, @WhT, TEST, AGeT- SRR BNS ATET (it O T e

(1)  =iESt-oidt (2) e
(8) s (4) ~BN=
Options :

5362282709. 1
5362282710. 2
5362282711.3
5362282712. 4

Question Number : 78 Question Id : 536228696 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1)  wwE-eier (2 I
(3) T @) spw
Options :

5362282709. 1
5362282710. 2
5362282711. 3
5362282712. 4

Question Number : 79 Question Id : 536228697 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

wttatersiat Grtetate e sttt 5 4t-
(1) %55 (2) xwobt
(3) vt (4) =5of



Options :

5362282713. 1
5362282714. 2
5362282715.3
5362282716. 4

Question Number : 79 Question Id : 536228697 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TitatereiSiat Sererate TRE seawfaa 5 u-

(1)  g5Gf (2) xwbt
(3) kvt (4) 255
Options :

5362282713. 1
5362282714.2
5362282715. 3
5362282716. 4

Question Number : 80 Question Id : 536228698 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘P IF ® WIS RS coAtEt 7 -

(1) TRAmRs (2) B =
(3) T T (4) TIF Gt
Options :

5362282717. 1
5362282718. 2
5362282719.3
5362282720. 4



Question Number : 80 Question Id : 536228698 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘P oitw W ortdes TeaRie ot A -

(1) TR umfs (2) Ty o
(3) TR T (4) Ty At
Options :

5362282717. 1
5362282718. 2
5362282719. 3
5362282720. 4

Question Number : 81 Question Id : 536228699 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Il ST TET RWiFg Ut Shiefe IFalT ‘TP SNl e d5e et 1o

(1) a5t (2) Toisot
(3)  Tuferot (4) FBEsH
Options :

5362282721. 1
5362282722.2
5362282723. 3
5362282724. 4

Question Number : 81 Question Id : 536228699 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



T SIEIT TRT [T 7 4 STs IFAE TEE BN 9T 59 offat 1o

(1)  aziot (2) Tourot
(3) TTeTD! (4) BB
Options :

5362282721. 1
5362282722.2
5362282723. 3
5362282724. 4

Question Number : 82 Question Id : 536228700 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1) it Tt (2) o witfse amia e
(3) TSt e (4) vt
Options :

5362282725. 1
5362282726. 2
5362282727.3
5362282728. 4

Question Number : 82 Question Id : 536228700 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

sTife Soet ©ivte Iweie Fat et 2'a

(1) et faf (2) ¥ ciifte i fef
(3)  twamArsiar ferfH (4) ot et

Options :



5362282725. 1
5362282726.2
5362282727. 3
5362282728. 4

Question Number : 83 Question Id : 536228701 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

BINE (o2 [Ayen 839 WS anfes sy g'a

1) = (2) =T
(3) Ao (4) s I oEaf
Options :

5362282729. 1
5362282730. 2
5362282731. 3
5362282732. 4

Question Number : 83 Question Id : 536228701 Question Type.: MCQ.Option Shuffling.: No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

GINE (502 [Ayer 833 WS anfes sty g's

(1) RE (2) =g
3 A (4) s I ToEAfY
Options :

5362282729. 1
5362282730. 2
5362282731. 3



5362282732. 4

Question Number : 84 Question Id : 536228702 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

witew 7ow faife FMaotamtss t-w'as geter oitfg g7e-

(1)  ©feT FoaEEat (2) = FoRpIRAT
(3) FfeFatsls (4) TFE
Options :

5362282733. 1
5362282734.2
5362282735. 3
5362282736. 4

Question Number : 84 Question Id : 536228702 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Titgtn Pots fShifs SEmeEEs -7 goe oz P

(1) THET FoR AT (2) = SRbEEt
(3) TsfrFaies (4) GerFiPlE
Options :

5362282733. 1
5362282734.2
5362282735.3
5362282736. 4

Question Number : 85 Question Id : 536228703 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



s Prar iRy o 13-

(1) sterotat (2) Fiferamis
(3) FREAE (4) TENIEEAE
Options :

5362282737. 1
5362282738. 2
5362282739.3
5362282740. 4

Question Number : 85 Question Id : 536228703 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

= P ARy o F19-

(1) Stereiot (2) TFiferamis
(3) [ZsEAL] (4) _CEseriis
Options :

5362282737. 1
5362282738. 2
5362282739. 3
5362282740. 4

Question Number : 86 Question Id : 536228704 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(1) sl (2) =gl
(3) wioPle (4) =P
Options :

5362282741. 1
5362282742.2
5362282743. 3
5362282744. 4

Question Number : 86 Question Id : 536228704 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Tt AtT It ey Tine dofere fEfesy o7 2t

(1) DIEEOE (2) TEFH
@  oF (@) _ZTg
Options :

5362282741. 1
5362282742.2
5362282743. 3
5362282744. 4

Question Number : 87 Question Id : 536228705 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



5590 BAw TR gt ‘The Name and Nature of Comparative Literature’ T Fgddd
JoRreiSaT a1

(1) @RS =i (2) T
(3) WA e (4) otegAs
Options :

5362282745. 1
5362282746. 2
5362282747. 3
5362282748. 4

Question Number : 87 Question Id : 536228705 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

90 e APt ffgf ‘“The Name and Nature of Comparative Literature o S=4a+
JoRrSTET A1

() S wis AN Gt
(3) @ @S (4) =D
Options :

5362282745. 1
5362282746. 2
5362282747. 3
5362282748. 4

Question Number : 88 Question Id : 536228706 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



HETIET iy HYEET A4S (influence) T ST FHITSIE @y BFF T Y6t 771

(1) ==t 9= (2 i e
(3) T Y= (4) TS Y=
Options :

5362282749. 1
5362282750. 2
5362282751.3
5362282752. 4

Question Number : 88 Question Id : 536228706 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

PEAIES AiaoT WEEAT 4614 (influence) T LRI FANCOITEE HET N YF0013 -

(1) =it g (2) SfFSE e
(3) wEYE (4) "TEREH =T
Options :

5362282749. 1
5362282750. 2
5362282751.3
5362282752. 4

Question Number : 89 Question Id : 536228707 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



e -

(1) (oot (2) MEr
(3) faem (4) =fafEs
Options :

5362282753. 1
5362282754. 2
5362282755. 3
5362282756. 4

Question Number : 89 Question Id : 536228707 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ot figeT -

(1) (oot 2 =5
(3 = (4) U SEES
Options :

5362282753. 1
5362282754.2
5362282755. 3
5362282756. 4

Question Number : 90 Question Id : 536228708 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



ZarEa9 ‘A Doll's House™ F103 Fi64H “ofoeTtHe’ eI ST Ce G Rl FratolEs 275

(1)  w I930F! (2) Foredsm It
(3)  wizwm ¥4t (4) ST oA
Options :

5362282757. 1
5362282758. 2
5362282759. 3
5362282760. 4

Question Number : 90 Question Id : 536228708 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

390299 “A Doll's House  A5s 9154 “foaa’ FioE © AR GRS Ol ool

(1)  fw ISToP! (2) “Teresm It
(3) TwEm &t (4) SyEE o
Options :

5362282757. 1
5362282758. 2
5362282759. 3
5362282760. 4

Question Number : 91 Question Id : 536228709 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



ifaes SRetafir A=91T Sots Yer-

(A) AT =faft “j_ﬁﬁm:’

(B) @I frar
(C) T o

D) craEss

Choose the correct answer from the options given below:

(1) (A) & (B) only (2) (B) & (C) only
(3) (C) & (D) only (4) (B) & (D) only
Options :

5362282761. 1
5362282762.2
5362282763. 3
5362282764. 4

Question Number : 91 Question Id : 536228709 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



ifaes SRetafir A=91T Sots Yer-

(A) AT =faft “j_ﬁﬁm:’

(B) @I frar
(C) T o

D) craEss

Choose the correct answer from the options given below:

(1) (A) & (B) only (2) (B) & (C) only
(3) (C) & (D) only (4) (B) & (D) only
Options :

5362282761. 1
5362282762.2
5362282763. 3
5362282764. 4

Question Number : 92 Question Id : 536228710 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Tty @e-37 ¥ RS ofi] 1% @ife-5 gfoT e oifstt fEs sfoe It e mifs
T | BitE got (SfE Ye -

(A) AT=7qt

(B) TS

(C) EEETrst
(D) TSt

Choose the correct answer from the options given below:

(1) (A) & (B) only (2) (B) & (C) only
(3) (C) & (D) only (4) (A & (D) enly
Options :

5362282765. 1
5362282766. 2
5362282767. 3
5362282768. 4

Question Number : 92 Question Id : 536228710 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Tty @e-37 ¥ RS ofi] 1% @ife-5 gfoT e oifstt fEs sfoe It e mifs
T | BitE got (SfE Ye -

(A) AT=7qt

(B) TS

(C) EEETrst
(D) TSt

Choose the correct answer from the options given below:

(1) (A) & (B) only (2) (B) & (C) only
(3) (C) & (D) only (4) (A & (D) enly
Options :

5362282765. 1
5362282766. 2
5362282767. 3
5362282768. 4

Question Number : 93 Question Id : 536228711 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



* TICET BlEl 8 TR Yo

(A)  FEpwE
(B) 704

(C) =T

(D) e

Choose the correct answer from the options given below:

(1) (A & (D) only (2) (B) & (D) only
(3) (A & (C) only (4) (C) & (D) only
Options :

5362282769. 1
5362282770. 2
5362282771. 3
5362282772. 4

Question Number : 93 Question Id : 536228711 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



* TICET BlEl 8 TR Yo

(A)  FEpwE
(B) 704

(C) =T

(D) e

Choose the correct answer from the options given below:

(1) (A & (D) only (2) (B) & (D) only
(3) (A & (C) only (4) (C) & (D) only
Options :

5362282769. 1
5362282770. 2
5362282771. 3
5362282772. 4

Question Number : 94 Question Id : 536228712 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(A) o™ TTEar
B IoeEs TE
(C) TABFoEO

, =
(D) TEuEIhaES TlEw

Choose the correct answer from the options given below:

(1) (A) & (B) only (2) (B) & (C) only
(3)  (C) & (D) only 4) (A) & (D) only
Options :

5362282773. 1
5362282774.2
5362282775. 3
5362282776. 4

Question Number : 94 Question Id : 536228712 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(A) o™ TTEar
B IoeEs TE
(C) TABFoEO

, =
(D) TEuEIhaES TlEw

Choose the correct answer from the options given below:

(1) (A) & (B) only (2) (B) & (C) only
(3)  (C) & (D) only 4) (A) & (D) only
Options :

5362282773. 1
5362282774.2
5362282775. 3
5362282776. 4

Question Number : 95 Question Id : 536228713 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



SRTTS 197 Tt Tt TSt Ler-

&) B Yem
B) ot
(C) =i st
D) T

Choose the correct answer from the options given below:

(1) (A) & (B) only (2) (B) & (C) only
(3) (B) & (D) only 4) (C) & (D) only
Options :

5362282777. 1
5362282778. 2
5362282779. 3
5362282780. 4

Question Number : 95 Question Id : 536228713 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



SRTTS 197 Tt Tt TSt Ler-

&) B Yem
B) ot
(C) =i st
D) T

Choose the correct answer from the options given below:

(1) (A) & (B) only (2) (B) & (C) only
(3) (B) & (D) only 4) (C) & (D) only
Options :

5362282777. 1
5362282778. 2
5362282779. 3
5362282780. 4

Question Number : 96 Question Id : 536228714 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(A) oS o
(B)  wagw

© fox

(D) IS

Choose the correct answer from the options given below:

(1) (A) & (B) only (2) (B) & (C) only
(3) (A & (D) only (4) (C) & (D) only
Options :

5362282781. 1
5362282782.2
5362282783. 3
5362282784. 4

Question Number : 96 Question Id : 536228714 Question Type.: MCQ.Option Shuffling.: No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(A) oS o
(B)  wagw

© fox

(D) IS

Choose the correct answer from the options given below:

(1) (A) & (B) only (2) (B) & (C) only
(3) (A & (D) only (4) (C) & (D) only
Options :

5362282781. 1
5362282782.2
5362282783. 3
5362282784. 4

Question Number : 97 Question Id : 536228715 Question Type.: MCQ.Option Shuffling.: No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



et fefrs ferat sffdm ge-

(A) e TgEat
(B) ormEst
(C) i Bt
(D) =S

Choose the correct answer from the options given below:

(1) (A) & (D) only (2) (B) & (D) only
(3) (A) & (B) only (4) (C) & (D) only
Options :

5362282785. 1
5362282786. 2
5362282787. 3
5362282788. 4

Question Number : 97 Question Id : 536228715 Question Type: MCQ,Option;Shuffling.: No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



et fefrs ferat sffdm ge-

(A) e TgEat
(B) ormEst
(C) i Bt
(D) =S

Choose the correct answer from the options given below:

(1) (A) & (D) only (2) (B) & (D) only
(3) (A) & (B) only (4) (C) & (D) only
Options :

5362282785. 1
5362282786. 2
5362282787. 3
5362282788. 4

Question Number : 98 Question Id : 536228716 Question Type.: MCQ,Option;Shuffling.: No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(A) wiifsest cetms I

(B) 9% WiF T Fa
(C) =¥ 3ot Wiz

® TP I g

Choose the correct answer from the options given below:

(1) (A) & (D) only (2) (A) & (C) only
(3) (B) & (D) only (4) (C) & (D) only
Options :

5362282789. 1
5362282790. 2
5362282791. 3
5362282792. 4

Question Number : 98 Question Id : 536228716 Question Type.: MCQ,Option;Shuffling.: No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(A) wiifsest cetms I

(B) 9% WiF T Fa
(C) =¥ 3ot Wiz

® TP I g

Choose the correct answer from the options given below:

(1) (A) & (D) only (2) (A) & (C) only
(3) (B) & (D) only (4) (C) & (D) only
Options :

5362282789. 1
5362282790. 2
5362282791. 3
5362282792. 4

Question Number : 99 Question Id : 536228717 Question Type: MCQ,;Option;Shuffling.: No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



W é1 G ':‘Jﬁ'

&) e Fice 916 g Wi ot
(B) w 909 99 29

(C) <[t witat wiEtg

(D) TEferet i = w'IeaE

Choose the correct answer from the options given below:

(1) (A & (C) only (2) (B) & (D) only
(3) (C) & (D) only (4) (A) & (B) only
Options :

5362282793. 1
5362282794. 2
5362282795.3
5362282796. 4

Question Number : 99 Question Id : 536228717 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



W é1 G ':‘Jﬁ'

&) e Fice 916 g Wi ot
(B) w 909 99 29

(C) <[t witat wiEtg

(D) TEferet i = w'IeaE

Choose the correct answer from the options given below:

(1) (A & (C) only (2) (B) & (D) only
(3) (C) & (D) only (4) (A) & (B) only
Options :

5362282793. 1
5362282794. 2
5362282795.3
5362282796. 4

Question Number : 100 Question Id : 536228718 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(A)  miEret

B) =T AfeE
€ Ry

(D) ST

Choose the correct answer from the options given below:

(1) (A) & (B) only (2) (B) & (C) only
(3) (C) & (D) only (4) (A) & (C) only
Options :

5362282797. 1
5362282798. 2
5362282799. 3
5362282800. 4

Question Number : 100 Question Id : 536228718 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(A)  miEret

B) =T AfeE
€ Ry

(D) ST

Choose the correct answer from the options given below:

(1) (A) & (B) only (2) (B) & (C) only
(3) (C) & (D) only (4) (A) & (C) only
Options :

5362282797. 1
5362282798. 2
5362282799. 3
5362282800. 4

Question Number : 101 Question Id : 536228719 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



o] Bt AT ety SotiaenE Y-
A) i o At

B) I g

(C)  T=ar =i e

D) o =i sioat

Choose the correct answer from the options given below:

(1)  (A) & (B) only (2) (B) & (D) only
(3)  (B) & (C) only 4) (C) & (D) only
Options :

5362282801. 1
5362282802. 2
5362282803. 3
5362282804. 4

Question Number : 101 Question Id : 536228719 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



o] Bt AT ety SotiaenE Y-
A) i o At

B) I g

(C)  T=ar =i e

D) o =i sioat

Choose the correct answer from the options given below:

(1)  (A) & (B) only (2) (B) & (D) only
(3)  (B) & (C) only 4) (C) & (D) only
Options :

5362282801. 1
5362282802. 2
5362282803. 3
5362282804. 4

Question Number : 102 Question Id : 536228720 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



ATETE CoNFIT 2e YeT-

(A) Assamese Proverbs
(B) Folk Literature of Assam
(C) Ballads and Tales of Assam

(D)  Studies in Early Assamese Literature

Choose the correct answer from the options given below:

(1) (&) & (B) only (2) (B) & (C) only
(3)  (C) & (D) only (4) (D) & (A) only
Options :

5362282805. 1
5362282806. 2
5362282807. 3
5362282808. 4

Question Number : 102 Question Id : 536228720 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



ATETE CoNFIT 2e YeT-

(A) Assamese Proverbs
(B) Folk Literature of Assam
(C) Ballads and Tales of Assam

(D)  Studies in Early Assamese Literature

Choose the correct answer from the options given below:

(1) (&) & (B) only (2) (B) & (C) only
(3)  (C) & (D) only (4) (D) & (A) only
Options :

5362282805. 1
5362282806. 2
5362282807. 3
5362282808. 4

Question Number : 103 Question Id : 536228721 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(A) Tt onis Sifacet cotatce e

B) TES IEIT ATeF AFET

(C)  TICeTy Jletrer wors) Hig &F

(D) ©iblce SiGAIE SEE GEEe

adda

Choose the correct answer from the options given below:

(1)  (A) & (B) only
(3)  (C) & (D) only

Options :

5362282809. 1
5362282810. 2
5362282811.3

(2)
@

(B) & (C) only
(A) & (D) only



5362282812. 4

Question Number : 103 Question Id : 536228721 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TEACHERS

adda2yT



(A) Tt onis Sifacet cotatce e

B) TES IEIT ATeF AFET

(C)  TICeTy Jletrer wors) Hig &F

(D) ©iblce SiGAIE SEE GEEe

adda

Choose the correct answer from the options given below:

(1)  (A) & (B) only
(3)  (C) & (D) only

Options :

5362282809. 1
5362282810. 2
5362282811.3

(2)
@

(B) & (C) only
(A) & (D) only



5362282812. 4

Question Number : 104 Question Id : 536228722 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(a) 7 EfEeay
(B) ST

€) “FIe auT Lo
(D) statag et Foa

Choose the correct answer from the options given below:

(1) (B) & (C) only (2)  (B)& (D) only
(3) (A) & (C) only (4) (A) & (D) only
Options :

5362282813. 1
5362282814.2
5362282815.3
5362282816. 4

Question Number : 104 Question Id : 536228722 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



@ g e

B SRR

(C) “Eits =i Yot
(D)  eirzieq et Free

Choose the correct answer from the options given below:

(1)  (B) & (C) only (2) (B) & (D) only
(3) (A) & (C) only (4) (A) & (D) only
Options :

5362282813. 1
5362282814.2
5362282815.3
5362282816. 4

Question Number : 105 Question Id : 536228723 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(A)  Fste dEtEt

(B) TS otef

(C) wifag o= e
(D) oot o= =it

Choose the correct answer from the options given below:

(1) (A) & (B) only (2) (B) & (C) only
(3) (A & (C) only (4) (C) & (D) only
Options :

5362282817. 1
5362282818. 2
5362282819. 3
5362282820. 4

Question Number : 105 Question Id : 536228723 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(A)  Fste dEtEt

(B) TS otef

(C) wifag o= e
(D) oot o= =it

Choose the correct answer from the options given below:

(1) (A) & (B) only (2) (B) & (C) only
(3) (A & (C) only (4) (C) & (D) only
Options :

5362282817. 1
5362282818. 2
5362282819. 3
5362282820. 4

Question Number : 106 Question Id : 536228724 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(A)
(B)
(C)
(D)

T Ol

Choose the correct answer from the options given below:

(1)
(3)

Options :

(A) & (B) only
(A) & (D) only

5362282821. 1
5362282822.2
5362282823. 3
5362282824. 4

Question Number : 106 Question Id : 536228724 Question Type : MCQ Option Shuffling
Correct Marks : 2 Wrong Marks : 0

(2)
(4)

(A) & (C) only
(B) & (C) only

: No Is Question Mandatory : No



(A)
(B)
(C)
(D)

T Ol

Choose the correct answer from the options given below:

(1)
(3)

Options :

(A) & (B) only
(A) & (D) only

5362282821. 1
5362282822.2
5362282823. 3
5362282824. 4

Question Number : 107 Question Id : 536228725 Question Type : MCQ Option Shuffling
Correct Marks : 2 Wrong Marks : 0

(2)
(4)

(A) & (C) only
(B) & (C) only

: No Is Question Mandatory : No



(A) AfEE Tt oiF ofF oE
(B) waog . A5 WiF Aoy
(C) ifRer-IW Gt

(D)  TotrT wigfee siceTioat

Choose the correct answer from the options given below:

(1) (A) & (C) only (2) (B) & (C) only
(3) (A & (D) only 4) (A) & (B)only
Options :

5362282825. 1
5362282826. 2
5362282827.3
5362282828. 4

Question Number : 107 Question Id : 536228725 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(A) AfEE Tt oiF ofF oE
(B) waog . A5 WiF Aoy
(C) ifRer-IW Gt

(D)  TotrT wigfee siceTioat

Choose the correct answer from the options given below:

(1) (A) & (C) only (2) (B) & (C) only
(3) (A & (D) only 4) (A) & (B)only
Options :

5362282825. 1
5362282826. 2
5362282827.3
5362282828. 4

Question Number : 108 Question Id : 536228726 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(A)  T99 TSPl SEiwT g

B) ot aifE s et
TG “ifdhe it |

(C) wiad (oroters YT Fioce
Tz S e

D) wifsm @rfEt ane spwar Rt
ST ST i |

Choose the correct answer from the options given below:

(1) (A) & (B) only (2)  (B) & (€) only
(3)  (C) & (D) only 4) " (A) & (D) only
Options :

5362282829. 1
5362282830. 2
5362282831.3
5362282832. 4

Question Number : 108 Question Id : 536228726 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(A)  T99 TSPl SEiwT g

B) ot aifE s et
TG “ifdhe it |

(C) wiad (oroters YT Fioce
Tz S e

D) wifsm @rfEt ane spwar Rt
ST ST i |

Choose the correct answer from the options given below:

(1) (A) & (B) only (2)  (B) & (€) only
(3)  (C) & (D) only 4) " (A) & (D) only
Options :

5362282829. 1
5362282830. 2
5362282831.3
5362282832. 4

Question Number : 109 Question Id : 536228727 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



FaTIE I FIoiT Ya
&) T It g

(B)  Siferpt

(C) wens® Sifat

D) «ft 56 gl oot

Choose the correct answer from the options given below:

(1)  (A) & (B) only (2) (B) & (C) only
(3)  (C) & (D) only 4) (A) & (D) only
Options :

5362282833. 1
5362282834.2
5362282835.3
5362282836. 4

Question Number : 109 Question Id : 536228727 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FATIE TFA1T PO YT

(A) et st I

(B)  Sffere™t

(C) vwerew ofiat

(D)  aft gt am=’E ot

Choose the correct answer from the options given below:

(1)  (A) & (B) only (2) (B) & (C) only
(3)  (C) & (D) only 4 (A) & (D) only



Options :

5362282833. 1
5362282834.2
5362282835.3
5362282836. 4

Question Number : 110 Question Id : 536228728 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(A)

8
¢ 54 4

Choose the correct answer from the options given below:

(1) (A & (C) only (2) HO)& (D)only
(3) (B) & (D) only @ (D)& @A) only
Options :

5362282837. 1
5362282838. 2
5362282839.3
5362282840. 4

Question Number : 110 Question Id : 536228728 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



T 21707 3o

(A) i
(B) E ]
(C) @Bt
(D) e

Choose the correct answer from the options given below:

(1)  (A) & (C) only (2) (C) & (D) only
(3)  (B) & (D) only (4) (D) & (A) only
Options :

5362282837. 1
5362282838. 2
5362282839.3
5362282840. 4

Question Number : 111 Question Id : 536228729 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



FATEE BeATe JadiT Aeere It 7 o Ao TifET dotw NRees Stedt TS TFIvEs st
(A) ©eTs TFImE 7 F TI0FT W 29T A7t Tt 1R

(B) ORWE AFeAETS ERAGTTSNT SAMEE sheat Sy

(C) wisdle Ji@al =¥ 3 Fo fiRfer Sivt TaxT =

(D) ThSTS @=eT TaE FIEH 1o oo

9919 TEIPTIEE TS ers st Reg wifie daeoss ¢

(1)  (A) & (D) only (2) (&) & (B) only
(3)  (B) & (C) only 4 (C) & (D) only
Options :

5362282841. 1
5362282842.2
5362282843. 3
5362282844. 4

Question Number : 111 Question Id : 536228729 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



FATEE BeATe JadiT Aeere It 7 o Ao TifET dotw NRees Stedt TS TFIvEs st
(A) ©eTs TFImE 7 F TI0FT W 29T A7t Tt 1R

(B) ORWE AFeAETS ERAGTTSNT SAMEE sheat Sy

(C) wisdle Ji@al =¥ 3 Fo fiRfer Sivt TaxT =

(D) ThSTS @=eT TaE FIEH 1o oo

9919 TEIPTIEE TS ers st Reg wifie daeoss ¢

(1)  (A) & (D) only (2) (&) & (B) only
(3)  (B) & (C) only 4 (C) & (D) only
Options :

5362282841. 1
5362282842.2
5362282843. 3
5362282844. 4

Question Number : 112 Question Id : 536228730 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



‘T AoeaT OF ol ST ot fifs-aifrey g ... @3 et e g
Rrfeeia et Wiis oo 5t 17 anfis AtfEew fesiy wrsdT 9o-

(A) SE-Tghod oF Ioat AT FeToT |
(B) oAl s faftad e oifq |

(C) 3T (T (FNIF-TCHIT o0 Thoo |
(D) YT TN wE ETITE =T ol T913 |

9919 TEIPTIEE TS ers st g wifis daeoss ¢

(1)  (A) & (B) only (2) (B) & (C) only
(3)  (A) & (D) only 4 (C) & (D) only
Options :

5362282845. 1
5362282846. 2
5362282847. 3
5362282848. 4

Question Number : 112 Question Id : 536228730 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



‘T AoeaT OF ol ST ot fifs-aifrey g ... @3 et e g
Rrfeeia et Wiis oo 5t 17 anfis AtfEew fesiy wrsdT 9o-

(A) SE-Tghod oF Ioat AT FeToT |
(B) oAl s faftad e oifq |

(C) 3T (T (FNIF-TCHIT o0 Thoo |
(D) YT TN wE ETITE =T ol T913 |

9919 TEIPTIEE TS ers st g wifis daeoss ¢

(1)  (A) & (B) only (2) (B) & (C) only
(3)  (A) & (D) only 4 (C) & (D) only
Options :

5362282845. 1
5362282846. 2
5362282847. 3
5362282848. 4

Question Number : 113 Question Id : 536228731 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



TFAWE, PE INoie AT Sreld ST | W FEAl oiF Wgho AT AifeT | FE-

(A) BT wEi PRty o S IeareTet GIEEe AgEs |

B) iy afer T =0f g o= ogghes TelEe! RIS ot T |
(C) 3T Srweiilt, GTeT IEalT AT JIN |

(D) GEEE O Aol T Ie |

(1) (A & (B)only (2) (A) & (C) only
(3)  (B) & (C) only 4 (C) & (D) only
Options :

5362282849. 1
5362282850. 2
5362282851.3
5362282852. 4

Question Number : 113 Question Id : 536228731 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



TFAWE, PE INoie AT Sreld ST | W FEAl oiF Wgho AT AifeT | FE-

(A) BT wEi PRty o S IeareTet GIEEe AgEs |

B) iy afer T =0f g o= ogghes TelEe! RIS ot T |
(C) 3T Srweiilt, GTeT IEalT AT JIN |

(D) GEEE O Aol T Ie |

(1) (A & (B)only (2) (A) & (C) only
(3)  (B) & (C) only 4 (C) & (D) only
Options :

5362282849. 1
5362282850. 2
5362282851.3
5362282852. 4

Question Number : 114 Question Id : 536228732 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



‘Fréa-TIEr 9T Fog offts sTifEer 1” FE-
(A) T Gl 4e o
(B) % T7-Ab@AE BI9F
(C) -4 53 SowhEe U2 4T Y&z 3o
D) s, Soitta It Hro-wivnT 7 =i Fidaw IfaT @rarfT

ST TEIPTIES WHITe oo [t N i agaemsn 7

(1) (&) & (C) only (2) (B) & (D) only
(3)  (A) & (B) only 4) (C) & (D) only
Options :

5362282853. 1
5362282854. 2
5362282855.3
5362282856. 4

Question Number : 114 Question Id : 536228732 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



‘Fréa-TIEr 9T Fog offts sTifEer 1” FE-
(A) T Gl 4e o
(B) % T7-Ab@AE BI9F
(C) -4 53 SowhEe U2 4T Y&z 3o
D) s, Soitta It Hro-wivnT 7 =i Fidaw IfaT @rarfT

ST TEIPTIES WHITe oo [t N i agaemsn 7

(1) (&) & (C) only (2) (B) & (D) only
(3)  (A) & (B) only 4) (C) & (D) only
Options :

5362282853. 1
5362282854. 2
5362282855.3
5362282856. 4

Question Number : 115 Question Id : 536228733 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



iz oty Tow s fe f5fas g e | wEd-

A =frews s wE
B Ffes e e aigee e e wiee

© f=fie aomes

D) ot e Mo 3T St 3 303 3 vt =7

S99 TEIPTRE TYtEe ToT ! few ot dedest ¢

(1)  (B) & (D) only (2) (A) & (B) only
(3) (B) & (C) only (4) (C) & (D) only
Options :

5362282857. 1
5362282858. 2
5362282859. 3
5362282860. 4

Question Number : 115 Question Id : 536228733 Question Type : MCQ Option'Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



iz oty Tow s fe f5fas g e | wEd-

A =frews s wE
B Ffes e e aigee e e wiee

© f=fie aomes

D) ot e Mo 3T St 3 303 3 vt =7

S99 TEIPTRE TYtEe ToT ! few ot dedest ¢

(1)  (B) & (D) only (2) (A) & (B) only
(3) (B) & (C) only (4) (C) & (D) only
Options :

5362282857. 1
5362282858. 2
5362282859. 3
5362282860. 4

Question Number : 116 Question Id : 536228734 Question Type : MCQ Option'Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT

List I List IT
(a) Grs a6 () 2o
®) st amn i) QT
(€) WaEIPHTR Fi6 (iii) CSeD
(d) TS0 (v) cfities

Choose the correct answer from the options given below :

(1) (2)-(i1). (b)-Q1), (e)-(), (d)-(v)
(2) (a)-(1v). (b)-(1). (e)-(11). (d)-(111)
3)  (@)-Gv). (b)-(i). (e)-(id), (d)-(1)
4)  (@-Q). (b)-(av). (c)-(a11). (d)-()

Options :

5362282861. 1

5362282862. 2

5362282863. 3
5362282864. 4

Question Number : 116 Question Id : 536228734 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT

List I List IT
(a) Grs a6 () 2o
®) st amn i) QT
(€) WaEIPHTR Fi6 (iii) CSeD
(d) TS0 (v) cfities

Choose the correct answer from the options given below :

(1) (2)-(i1). (b)-Q1), (e)-(), (d)-(v)
(2) (a)-(1v). (b)-(1). (e)-(11). (d)-(111)
3)  (@)-Gv). (b)-(i). (e)-(id), (d)-(1)
4)  (@-Q). (b)-(av). (c)-(a11). (d)-()

Options :

5362282861. 1

5362282862. 2

5362282863. 3
5362282864. 4

Question Number : 117 Question Id : 536228735 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT

List I List IT
(a) I9 It AR e Ivm I AT (i) wAw
(b) w1 OF A1 A% ©o7 wiaf (i) et IrATET
(€ Toitg wifarer wizs AtS Bt (i) et
(d) oo ot RPN FAICE T (iv) wEAm

Choose the correct answer from the options given below :

(1)  (a)-(@). (b)-(1). (c)-(aw). (d)-(a11)
2  (@-@). (b)-(1),(e)-(11), (d)-(1v)
3y (@)-(w). (b)-(am). (e)-(11), (d)-()
@  (2)-(1). (b)-v). (c)-). (d)-G1)

Options :

5362282865. 1
5362282866. 2
5362282867. 3
5362282868. 4

Question Number : 117 Question Id : 536228735 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT

List I List IT
(a) I9 It AR e Ivm I AT (i) wAw
(b) w1 OF A1 A% ©o7 wiaf (i) et IrATET
(€ Toitg wifarer wizs AtS Bt (i) et
(d) oo ot RPN FAICE T (iv) wEAm

Choose the correct answer from the options given below :

(1)  (a)-(@). (b)-(1). (c)-(aw). (d)-(a11)
2  (@-@). (b)-(1),(e)-(11), (d)-(1v)
3y (@)-(w). (b)-(am). (e)-(11), (d)-()
@  (2)-(1). (b)-v). (c)-). (d)-G1)

Options :

5362282865. 1
5362282866. 2
5362282867. 3
5362282868. 4

Question Number : 118 Question Id : 536228736 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List T with List IT

List I List II
(a) oSt mifoe 1) =it
(b) ot oY (1) SEmer
(¢) Titer oTiceet (iii) =ife csforieg w'a
(@ wFEH IS (v) Prace

Choose the correct answer from the options given below:

(1 (@-@. (b)-(11). (e)-(1). (d)-(2v)
(2)  (@)-v). (b)-(m). (e)-(111). (d)-(@)
(3  (a)-{. (b)-@). (e)-(v). (d)-(111)

4 (a)-(i), (b)-av). (c)-@). (d)-(1)

Options :

5362282869. 1
5362282870. 2
5362282871.3
5362282872. 4

Question Number : 118 Question Id : 536228736 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List T with List IT

List I List II
(a) oSt mifoe 1) =it
(b) ot oY (1) SEmer
(¢) Titer oTiceet (iii) =ife csforieg w'a
(@ wFEH IS (v) Prace

Choose the correct answer from the options given below:

(1 (@-@. (b)-(11). (e)-(1). (d)-(2v)
(2)  (@)-v). (b)-(m). (e)-(111). (d)-(@)
(3  (a)-{. (b)-@). (e)-(v). (d)-(111)

4 (a)-(i), (b)-av). (c)-@). (d)-(1)

Options :

5362282869. 1
5362282870. 2
5362282871.3
5362282872. 4

Question Number : 119 Question Id : 536228737 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List IT

List I List IT
(a) of -t i) %
(b) PEAEG (i) ©BIF TSt
() wfa (iil) TETITE
(d) Tau (iv) Tae

]

Choose the correct answer from the options given below :

(D (@-Gv). (b)-(id). (e)-(). (d)-()
(2 (a)-Gi). (b)-(iv). (e)-GiD), (d)-(1)
(3 (a)-). (b)-Gi). (e)-(1v). (d)-(11)
(4 (a)-(), (b)-(2). (e)-(11), (d)-(v)

Options :

5362282873. 1
5362282874.2
5362282875. 3
5362282876. 4

Question Number : 119 Question Id : 536228737 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List IT

List I List IT
(a) of -t i) %
(b) PEAEG (i) ©BIF TSt
() wfa (iil) TETITE
(d) Tau (iv) Tae

]

Choose the correct answer from the options given below :

(D (@-Gv). (b)-(id). (e)-(). (d)-()
(2 (a)-Gi). (b)-(iv). (e)-GiD), (d)-(1)
(3 (a)-). (b)-Gi). (e)-(1v). (d)-(11)
(4 (a)-(), (b)-(2). (e)-(11), (d)-(v)

Options :

5362282873. 1
5362282874.2
5362282875. 3
5362282876. 4

Question Number : 120 Question Id : 536228738 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT

List I List IT
(a) iaeT fafiat i) I
(b) T (i) foererat
(¢ ciffes ig%% (1) =Zreos
(d) “IFEE (iv) st

Choose the correct answer from the options given below :

1) (a)-G1), (b)-@v). (©)-). (d)-(11)
2 (a)-(v). (b)-(i1). (e)-(il). (d)-@)
3  (a)-0D). (b)-@). (e)-(v). (d)-(n)
@  (a)-(D). (b)-Gi). (c)-(i), (d)-(iv)

Options :

5362282877. 1
5362282878. 2
5362282879. 3
5362282880. 4

Question Number : 120 Question Id : 536228738 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT

List I List IT
(a) iaeT fafiat i) I
(b) T (i) foererat
(¢ ciffes ig%% (1) =Zreos
(d) “IFEE (iv) st

Choose the correct answer from the options given below :

1) (a)-G1), (b)-@v). (©)-). (d)-(11)
2 (a)-(v). (b)-(i1). (e)-(il). (d)-@)
3  (a)-0D). (b)-@). (e)-(v). (d)-(n)
@  (a)-(D). (b)-Gi). (c)-(i), (d)-(iv)

Options :

5362282877. 1
5362282878. 2
5362282879. 3
5362282880. 4

Question Number : 121 Question Id : 536228739 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match Last I with Last IT

List I List IT
(a) oI FE (i)  StTert sieet
(b) FOE O () THEITE SHGE
(¢ Ipie dfoemy (1) Frama 7=
(d) TP AT TG (v) whesaTY Sleror

Choose the correct answer from the options given below :

(1) (a)-(). (b)-(i11), (c)-(v). (d)-(1)
(2) (2)-(111). (b)-(1). (e)-(a1). (d)-(1w)
(3)  (a)-(i1). (b)-(iv). (e)-(1). (d)-(iii)
@ @-(v). 0)-Q). (e)-(1d). (d)-(iD)

Options :

5362282881. 1
5362282882.2
5362282883. 3
5362282884. 4

Question Number : 121 Question Id : 536228739 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match Last I with Last IT

List I List IT
(a) oI FE (i)  StTert sieet
(b) FOE O () THEITE SHGE
(¢ Ipie dfoemy (1) Frama 7=
(d) TP AT TG (v) whesaTY Sleror

Choose the correct answer from the options given below :

(1) (a)-(). (b)-(i11), (c)-(v). (d)-(1)
(2) (2)-(111). (b)-(1). (e)-(a1). (d)-(1w)
(3)  (a)-(i1). (b)-(iv). (e)-(1). (d)-(iii)
@ @-(v). 0)-Q). (e)-(1d). (d)-(iD)

Options :

5362282881. 1
5362282882.2
5362282883. 3
5362282884. 4

Question Number : 122 Question Id : 536228740 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT

List I List II
(a) w9 (1) FEEESE
(b) wiUz (i) wetavef
(¢ W& (i) ICEFEEETe
d T (iv) IOE

Choose the correct answer from the options given below :

1) (@)-Q). b)-(v). (c)-(111). (d)-(11)
2  (a)-(), (b)-(u). (e)-(v). (d)-(2)
3  (@-). (b)-). (e)-(11), (d)-(m)
@  (a)-w). b)-@). (©)-0). (d)-(v)

Options :

5362282885. 1
5362282886. 2
5362282887. 3
5362282888. 4

Question Number : 122 Question Id : 536228740 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT

List I List II
(a) w9 (1) FEEESE
(b) wiUz (i) wetavef
(¢ W& (i) ICEFEEETe
d T (iv) IOE

Choose the correct answer from the options given below :

1) (@)-Q). b)-(v). (c)-(111). (d)-(11)
2  (a)-(), (b)-(u). (e)-(v). (d)-(2)
3  (@-). (b)-). (e)-(11), (d)-(m)
@  (a)-w). b)-@). (©)-0). (d)-(v)

Options :

5362282885. 1
5362282886. 2
5362282887. 3
5362282888. 4

Question Number : 123 Question Id : 536228741 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT

List I List IT
(@ St T @) wSitet
(b) CaTETIETY COfrtaY (i) 9% ITwET SERET
(€ wEEArY =R (i) HB-feTda
d) TS g ot (iv) e et o wieg

Choose the correct answer from the options given below :

1) (a)-(1), (b)-(111). (c)-(v). (d)-()
2)  (a)-(id), (b)-Q). (e)-(1). (d)-(iv)
(3 (@)-, (b)-aw). (e)-(11), (d)-(1)
@  (@-0v). (b)-(m). (©)-@). (d)-(11)

Options :

5362282889. 1
5362282890. 2
5362282891. 3
5362282892. 4

Question Number : 123 Question Id : 536228741 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT

List I List IT
(@ St T @) wSitet
(b) CaTETIETY COfrtaY (i) 9% ITwET SERET
(€ wEEArY =R (i) HB-feTda
d) TS g ot (iv) e et o wieg

Choose the correct answer from the options given below :

1) (a)-(1), (b)-(111). (c)-(v). (d)-()
2)  (a)-(id), (b)-Q). (e)-(1). (d)-(iv)
(3 (@)-, (b)-aw). (e)-(11), (d)-(1)
@  (@-0v). (b)-(m). (©)-@). (d)-(11)

Options :

5362282889. 1
5362282890. 2
5362282891. 3
5362282892. 4

Question Number : 124 Question Id : 536228742 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT

List I List IT
(a) 1= (1) OB
(b) CSERE (i) ©W
() 3% (iil) Her-=rEat
(d) =t (iv) == O

Choose the correct answer from the options given below :

(1) (@-), (b)-(i). (c)-(ii), (d)-(iv)
@  (a)-(v). (b)-(iid). (e)-G1). (d)-()
(3  (a)-(id), (b)-(v). ()-(). (d)-(i1)
4  (a)-1). (b)-@). (©)-Gv). (d)-(1il)

Options :

5362282893. 1
5362282894. 2
5362282895. 3
5362282896. 4

Question Number : 124 Question Id : 536228742 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT

List I List IT
(a) 1= (1) OB
(b) CSERE (i) ©W
() 3% (iil) Her-=rEat
(d) =t (iv) == O

Choose the correct answer from the options given below :

(1) (@-), (b)-(i). (c)-(ii), (d)-(iv)
@  (a)-(v). (b)-(iid). (e)-G1). (d)-()
(3  (a)-(id), (b)-(v). ()-(). (d)-(i1)
4  (a)-1). (b)-@). (©)-Gv). (d)-(1il)

Options :

5362282893. 1
5362282894. 2
5362282895. 3
5362282896. 4

Question Number : 125 Question Id : 536228743 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match Last I with Last II
List I List IT
(a) oot @ wie
(b) T (i) Fowesdt
(c) it (i) wtFerr o
d wifi (iv) wGT

Choose the correct answer from the options given below :

(D (-G, (b)-(iid), (c)4iv), (d)-()
(2 (a)-(w), (b)-(11), ()-(). (d)-(v)
(3 (a)-av), (b)-(). (e)-(1), (d)-(a1)
@  (2)-O). (b):v). (e)-1id). (d)-(Gd)

Options :

5362282897. 1
5362282898. 2
5362282899. 3
5362282900. 4

Question Number : 125 Question Id : 536228743 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match Last I with Last II
List I List IT
(a) oot @ wie
(b) T (i) Fowesdt
(c) it (i) wtFerr o
d wifi (iv) wGT

Choose the correct answer from the options given below :

(D (-G, (b)-(iid), (c)4iv), (d)-()
(2 (a)-(w), (b)-(11), ()-(). (d)-(v)
(3 (a)-av), (b)-(). (e)-(1), (d)-(a1)
@  (2)-O). (b):v). (e)-1id). (d)-(Gd)

Options :

5362282897. 1
5362282898. 2
5362282899. 3
5362282900. 4

Question Number : 126 Question Id : 536228744 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(@) FftswE Ry x
b) IS R
(¢ Pz

(d) TEomE g
() Fuhy3g

Choose the correct answer from the options given below :

(1) (b), (e), (o), (a). (d)
(2) (). (b). (0). (d). (e)
(3)  (e). (d). (o). (b). (a)
(4)  (d). (e). (a). (c). (b)

Options :

5362282901. 1
5362282902. 2
5362282903. 3
5362282904. 4

Question Number : 126 Question Id : 536228744 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(@) FftswE Ry x
b) IS R
(¢ Pz

(d) TEomE g
() Fuhy3g

Choose the correct answer from the options given below :

(1) (b), (e), (o), (a). (d)
(2) (). (b). (0). (d). (e)
(3)  (e). (d). (o). (b). (a)
4 (. (e. (@) (. (b)

Options :

5362282901. 1
5362282902. 2
5362282903. 3
5362282904. 4

Question Number : 127 Question Id : 536228745 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



U AT T7T TP ST -

(a)  wfedret
(b)  wERS
(c) gsan)
d)  offeT

(e) ST

Choose the correct answer from the options given below :

(1)  (a). (b). (0). (&), (d)
2) (). (a). @). (0, (e)
(3)  (©. (@) (b). (). (d)
4  (b). (0). (e). (). (d)

Options :

5362282905. 1
5362282906. 2
5362282907. 3
5362282908. 4

Question Number : 127 Question Id : 536228745 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



U AT T7T TP ST -

(a)  wfedret
(b)  wERS
(c) gsan)
d)  offeT

(e) ST

Choose the correct answer from the options given below :

(1)  (a). (b). (0). (&), (d)
2) (). (a). @). (0, (e)
(3)  (©. (@) (b). (). (d)
4  (b). (0). (e). (). (d)

Options :

5362282905. 1
5362282906. 2
5362282907. 3
5362282908. 4

Question Number : 128 Question Id : 536228746 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(a) I
(b)  afomt

(c) AtstT (it
(d) BT
(e) et

Choose the correct answer from the options given below :

(1) (d). (e). (b). (c). (a)
2) (&) (b). (d). (o). (a)
(3)  (b). (d). (a). (2). (e)
4)  (a). (b). (c). (d), (e)

Options :

5362282909. 1
5362282910. 2
5362282911. 3
5362282912. 4

Question Number : 128 Question Id : 536228746 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(a) I
(b)  afomt

(c) AtstT (it
(d) BT
(e) et

Choose the correct answer from the options given below :

(1) (d). (e). (b). (c). (a)
2) (&) (b). (d). (o). (a)
(3)  (b). (d). (a). (2). (e)
4)  (a). (b). (c). (d), (e)

Options :

5362282909. 1
5362282910. 2
5362282911. 3
5362282912. 4

Question Number : 129 Question Id : 536228747 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(@) ST ST o eAieer oet
(b) AT i
(© =it Bi ofE wifager

(d)  pEeiacers =
(e)  wwTiPiE fifs

Choose the correct answer from the options given below :

(1) (d. (b). (e). (0). (a)
(2)  (a). (b), (c). (d), (&)
(3)  (e). (d). (0). (b). (a)
4)  (c). (d). (a). (e). (b)

Options :

5362282913. 1
5362282914.2
5362282915. 3
5362282916. 4

Question Number : 129 Question Id : 536228747 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(@) ST ST o eAieer oet
(b) AT i
(© =it Bi ofE wifager

(d)  pEeiacers =
(e)  wwTiPiE fifs

Choose the correct answer from the options given below :

(1) (d. (b). (e). (0). (a)
(2)  (a). (b), (c). (d), (&)
(3)  (e). (d). (0). (b). (a)
4)  (c). (d). (a). (e). (b)

Options :

5362282913. 1
5362282914.2
5362282915. 3
5362282916. 4

Question Number : 130 Question Id : 536228748 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(a) Structure of Assamese

(b) A Study on Kamrupi: A Dialect of Assamese
(c) Studies 1n Sino-Tibetan Language

(d) An Introduction to Assamese Phonology

(e) Nagamese: The language of Nagaland
Choose the correct answer from the options given below :

(1) (a), (c), (b). (d), (e)
(2)  (e). (b). (a). (c). (d)
(3)  (b). (c). (d). (e). ()
4 (d). (a). (b) (c). ()

Options :

5362282917. 1
5362282918. 2
5362282919. 3
5362282920. 4

Question Number : 130 Question Id : 536228748 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(a) Structure of Assamese

(b) A Study on Kamrupi: A Dialect of Assamese
(c) Studies 1n Sino-Tibetan Language

(d) An Introduction to Assamese Phonology

(e) Nagamese: The language of Nagaland
Choose the correct answer from the options given below :

(1) (a), (c), (b). (d), (e)
(2)  (e). (b). (a). (c). (d)
(3)  (b). (c). (d). (e). ()
4 (d). (a). (b) (c). ()

Options :

5362282917. 1
5362282918. 2
5362282919. 3
5362282920. 4

Question Number : 131 Question Id : 536228749 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



AT HICETAT T 50 HPA(S GFtfeearnT sreat
(a) T

b) g™

()  FAmPFEm

(d) (GoAII® Tamhe

(e) T« TEE91T
Choose the correct answer from the options given below :

(1) (o). (b). (a). (d). ()
(2)  (a). (). (d), (b). ()
(3)  (b). (a). (d). (e). (c)
4 (b). (c). (a). (d). (&)

Options :

5362282921. 1
5362282922.2
5362282923. 3
5362282924. 4

Question Number : 131 Question Id : 536228749 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



AT HICETAT T 50 HPA(S GFtfeearnT sreat
(a) T

b) g™

()  FAmPFEm

(d) (GoAII® Tamhe

(e) T« TEE91T
Choose the correct answer from the options given below :

(1) (o). (b). (a). (d). ()
(2)  (a). (). (d), (b). ()
(3)  (b). (a). (d). (e). (c)
4 (b). (c). (a). (d). (&)

Options :

5362282921. 1
5362282922.2
5362282923. 3
5362282924. 4

Question Number : 132 Question Id : 536228750 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(@)  wiFegfae ST FrefaPt
®) YT ot

(¢)  =rEwEE St

(@) A et

(e)  TOrEAMY TSt
Choose the correct answer from the options given below :

(1) (a). (d), (b). (c). (e)
(2) (b). (a). (d). (c). {e)
(3) (a). (b). (c). (d). (e)

(4) (c). (d). (e), (a). (b)

Options :

5362282925. 1
5362282926. 2
5362282927.3
5362282928. 4

Question Number : 132 Question Id : 536228750 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(a)  TRrEfRe S RS
(b) @Y IS

(c) T C Al D EFE

(@ o oot

(e)  TOrEAMY TSt
Choose the correct answer from the options given below :

(1) (a). (d), (b). (c). (e)
(2) (b). (a). (d). (c). {e)
(3) (a). (b). (c). (d). (e)

4 (o). (d). (e). (a). (b)

Options :

5362282925. 1
5362282926. 2
5362282927.3
5362282928. 4

Question Number : 133 Question Id : 536228751 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(a) AT Fiast
(b)  TIAD

(©  Fg

(d) HIGIE

(e)  sftorat

Choose the correct answer from the options given below :

(1) (a). (b). (c). (d). (e)
(2)  (c). (e). (b). (a). (d)
(3) (b). (a). (c). (d). (e)
(4 (e). (0. (b) (). (d)

Options :

5362282929. 1
5362282930. 2
5362282931. 3
5362282932. 4

Question Number : 133 Question Id : 536228751 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(a) AT Fiast
(b)  TIAD

(©  Fg

(d) HIGIE

(e)  sftorat

Choose the correct answer from the options given below :

(1) (a). (b). (c). (d). (e)
(2)  (c). (e). (b). (a). (d)
(3) (b). (a). (c). (d). (e)
(4 (e). (0. (b) (). (d)

Options :

5362282929. 1
5362282930. 2
5362282931. 3
5362282932. 4

Question Number : 134 Question Id : 536228752 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(a) it
(b) SISt cratpEat
()  T=ESt TEIEE!

(d) et Iawe

(e)  TatEHr wiT @Iy
Choose the correct answer from the options given below :

(1) (a). (b). (d). (e). (c)
2) (). (@). (d). (c) (e)
3 (@ (c). (b). (d). (e)
4 (a). (b). (c). (d). ()

Options :

5362282933. 1
5362282934. 2
5362282935.3
5362282936. 4

Question Number : 134 Question Id : 536228752 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(a) it
(b) SISt cratpEat
()  T=ESt TEIEE!

(d) et Iawe

(e)  TatEHr wiT @Iy
Choose the correct answer from the options given below :

(1) (a). (b). (d). (e). (c)
2) (). (@). (d). (c) (e)
3 (@ (c). (b). (d). (e)
4 (a). (b). (c). (d). ()

Options :

5362282933. 1
5362282934. 2
5362282935.3
5362282936. 4

Question Number : 135 Question Id : 536228753 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Frery Abtaot SPpify aFifrerer Srstt-
(b) TN SEEEE

(c)  stmwer swfef

(d) Gteer et

(e)  ToIH Fretfert
Choose the correct answer from the options given below :

(1) (©. (b). (a). (e). (d)
(2)  @). @). (c). (a) (e)
(3) (. (e). (b).(a). (c)
(4 (b). (0. (d. (). (&)

Options :

5362282937. 1
5362282938. 2
5362282939. 3
5362282940. 4

Question Number : 135 Question Id : 536228753 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Frery Abtaot SPpify aFifrerer Srstt-
(b) TN SEEEE

(c)  stmwer swfef

(d) Gteer et

(e)  ToIH Fretfert
Choose the correct answer from the options given below :

(1) (©. (b). (a). (e). (d)
(2)  @). @). (c). (a) (e)
(3) (. (e). (b).(a). (c)
(4 (b). (0. (d. (). (&)

Options :

5362282937. 1
5362282938. 2
5362282939. 3
5362282940. 4

Question Number : 136 Question Id : 536228754 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as

Reason R
Assertion A: ft et wima cmifer ancdt, woft Rt wizs fFom oftss e oot weos
THitEal, oo ©iF THiT GhEw |

ReasonR : IMoiPe nivg-zom 7oy oiF §4-@Si9e ATRefsdacs foee g o=t
*ifes AT (il oz |
gotgo Bfeqols cifzee =itfoce Szees Sweot Tify Sfredt-
(1) ‘A’W‘R’WH@EW‘R’M‘A’EEEWI
(2) CA'wiE ‘R gl o7 8 R A’ T uF il A
(3) Aoy P8 R opTes
(4) A e T8 ‘R’ A9y
Options :
5362282941. 1
5362282942.2

5362282943. 3
5362282944. 4

Question Number : 136 Question Id : 536228754 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as

Reason R
Assertion A: ft et wima cmifer ancdt, woft Rt wizs fFom oftss e oot weos
THitEal, oo ©iF THiT GhEw |

ReasonR : IMoiPe nivg-zom 7oy oiF §4-@Si9e ATRefsdacs foee g o=t
*ifes AT (il oz |
gotgo Bfeqols cifzee =itfoce Szees Sweot Tify Sfredt-
(1) ‘A’W‘R’WH@EW‘R’M‘A’EEEWI
(2) CA'wiE ‘R gl o7 8 R A’ T uF il A
(3) Aoy P8 R opTes
(4) A e T8 ‘R’ A9y
Options :
5362282941. 1
5362282942.2

5362282943. 3
5362282944. 4

Question Number : 137 Question Id : 536228755 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as

Reason R
Assertion A: ©F > B9, Ty > Tod- W99 % AIT6a@T T9eies SnEad, it 3

T TEHAT NSo ITEE Y13 SHIRT FaeT Fa7 (207 |

ReasonR : & > 39, @if > & [@0&TS SHIFT FAPI0T afoe ITeerg Sumad |

goive Bfeqolr cfizee 5 Swawt g Bfenedt-
(1) A’ =¥ ‘R’ qrfofd sep o+ ‘R’ targ ‘A’ 3 & T |
(2) CA’wiF ‘R’ gIinE Fey 98 R’ OA’ I WF S 5= |
(3) A’ e f&E ‘R’ =nes
(4) A ey 38 R Aes

Options :

5362282945. 1

5362282946. 2

5362282947.3
5362282948. 4

Question Number : 137 Question Id : 536228755 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as

Reason R
Assertion A: ©F > B9, Ty > Tod- W99 % AIT6a@T T9eies SnEad, it 3

T TEHAT NSo ITEE Y13 SHIRT FaeT Fa7 (207 |

ReasonR : & > 39, @if > & [@0&TS SHIFT FAPI0T afoe ITeerg Sumad |

goive Bfeqolr cfizee 5 Swawt g Bfenedt-
(1) A’ =¥ ‘R’ qrfofd sep o+ ‘R’ targ ‘A’ 3 & T |
(2) CA’wiF ‘R’ gIinE Fey 98 R’ OA’ I WF S 5= |
(3) A’ e f&E ‘R’ =nes
(4) A ey 38 R Aes

Options :

5362282945. 1

5362282946. 2

5362282947.3
5362282948. 4

Question Number : 138 Question Id : 536228756 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one 1 labelled as Assertion A and the other is labelled as
Reason R

Assertion A: @FeHAIT ‘Forws e’ @iert fo=or frog it Tieives s99oe ofew et

GIER
ReasonR : % TSR0t fiow st o=2st @ie duss o fog foq oo doatst =13
ST AT |

cATe Sfevple citzee B% Swuact Iy Bfredr-
(1) CA’wiF ‘R’ q@ic o oiF ‘R’ tam ‘A’ T @5 T
(2) A= ‘R’ goIinE Sey fFE RYOCAT 7 @ U 95
(3) CA’F e F8 ‘R’ w5y
(4) A oPTey [ R ey

Options :

5362282949. 1

5362282950. 2

5362282951. 3
5362282952. 4

Question Number : 138 Question Id : 536228756 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one 1 labelled as Assertion A and the other is labelled as
Reason R

Assertion A: @FeHAIT ‘Forws e’ @iert fo=or frog it Tieives s99oe ofew et

GIER
ReasonR : % TSR0t fiow st o=2st @ie duss o fog foq oo doatst =13
ST AT |

cATe Sfevple citzee B% Swuact Iy Bfredr-
(1) CA’wiF ‘R’ q@ic o oiF ‘R’ tam ‘A’ T @5 T
(2) A= ‘R’ goIinE Sey fFE RYOCAT 7 @ U 95
(3) CA’F e F8 ‘R’ w5y
(4) A oPTey [ R ey

Options :

5362282949. 1

5362282950. 2

5362282951. 3
5362282952. 4

Question Number : 139 Question Id : 536228757 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements:
Statement I : ot AT, AT I eT g |
Statement II : 57337199 AfowH WiqE @9 I #fes I GBI T AL |

@717 BT qOIT oitnge Boe [TegenEs st itiEsie Jgaeret Seacot Jify Sferedt-
(1) Sfe ‘T =iF Sfe IT gEnE a5
2) SfF ‘T orF 3fF I qEnl ous
3) Ui T ©m g Ofw II' o5
(4) OfF ‘T wwg T8 ofF ‘|I° =g
Options :
5362282953. 1
5362282954. 2

5362282955.3
5362282956. 4

Question Number : 139 Question Id : 536228757 Question Types: MCQOption,Shuffling,: No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(Given below are two statements:
Statement I : [Gd1a 3[4, 91E 1 ©F T4 |
Statement II : 535719 dfowm wiqE @=a <A @fes T GE FF = |

87197 BT goiT Coitege oo egena <=t SitiRsie dxderss Seacot Iifz Sferedt-
(1) SfF ‘T orF 3fF IT qEnE s

@) OfF T =T 3fF IT qEnE owEs

(3) OfF T @5 8 8fe ‘I -5

(4) OfF ‘T =ew 8 of I us

Options :



5362282953. 1
5362282954. 2
5362282955. 3
5362282956. 4

Question Number : 140 Question Id : 536228758 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement [: (g7 =5 =5te R w3 swfepe @ T ot It Preg 7o g
sia3 R ot ot g7 Shact SR i | g 93 Sevamis oo 32 isires,
TETo WL Fhe Frod MEe Ret wite FaE T |

Statement II: =g =1ofe FgE == @&t 716 93 oiF FtEe Ffes 38 f=m Szdife
= |

89159 BT o citnge ooe RowenEs <3t ue Swan! Jifk Sfensal-
(1) ofr ‘T o= & T g o

(2) OfF T =iF Sfe I qEE o

(3) ofF T ua o8 e I o8

(4) OfF T oy 8 ohe I 85

Options :

5362282957. 1
5362282958. 2
5362282959. 3
5362282960. 4

Question Number : 140 Question Id : 536228758 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement [: (g7 =5 =5te R w3 swfepe @ T ot It Preg 7o g
sia3 R ot ot g7 Shact SR i | g 93 Sevamis oo 32 isires,
TETo WL TFe Fred MEe Ret wite FaE T |

Statement II: =g =19fe RE == @&t 7=1F 9% oie otae Tgfen w7 T Sife
= |

89197 BT I citngs ooe RaernEs <fat ©a Seant 31y Sfeneat-
(1) O ‘T wite S ‘I qanE &=

(2) O T =iF S I qEE o

(3) ©fF T ua 8 Sfe Il oios

(4) OfF T ooy T8 of ‘I 85

Options :

5362282957. 1
5362282958. 2
5362282959. 3
5362282960. 4

Sub-Section Number : 2
Sub-Section Id : 53622829
Question Shuffling Allowed : Yes

Question Id : 536228759 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (141 to 145)
Question Label : Comprehension



7S, U ol oY oW TT | FYRISIT WEE AR e It JPUT IS
wgfs I o, cam- o5, e, T, ey, fta, s, Sty W33t gmiT ey et
fafes ert-TfRetrnme sigfs It segfesr wf =@ 39t =) focwz SfEfis sz
steFfes Ff wiie Twess Acgfes wf | e, QBRfRer Oot w3 swfacg | s19gfs e seee
TS W AW o et Ak W @it SRiss wiet e iz few It oee
AMATEN whootlds dET AT IwEE ocgfor Iy Tosw @1 ME GREE wEdE W
ffveres R Afififas =ie mfss ot oife EefERT o U |

ot 7T M- EdT @A w9 AT Toae A w, @t et Afiee ot
Tise w1 e creiaEng = @EREE I oo dfewae G et 3= 3 1R7 o= =i
F9eT Bud T AEFA- @it FiFa @ 913 T W3Rast ey dforle amm one, wifm
T cifont &fy o It wifE o Si-ow Ut oRe s At G Atfe-aitth e g, o
Tg T MSTe! S AP | dfssH migeT T Toe 9B S GimEteeat SieE | I TEES
oSt [ ele tapm, Ghfee Qi QT3s i |

T AT WIF oo (2 ANZ OfF SRT-ATT TR | oI SR S Mo SiEes o1
T (7 Wiy B Aeret WiF 7eFe |

Sub questions

Question Number : 141 Question Id : 536228760 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



SRS I 4T AFhoT 9 @ $¥a997

(1) o= seFhs T s o3t =7 |
(2) o wiF Tforer TiFho e SE T 27
(3)  IpwiT ey al e ef-SANeshRE TFhe =F & 27 |
(4) e AifEes, fta, fie, sw wifee wwgfe =i wat 27
Options :
5362282961. 1
5362282962. 2

5362282963. 3
5362282964. 4

Question Number : 142 Question Id : 536228761 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

@R TG T AFOT TEHT PN T ?

(1) Tom I iFe Ao =hoaidq FEg 79 FciE ARFoT 99 FoTo 77/ |
(2) TRETT Nifee 7 Aghos foowar 727 |

(3) R AfFte wt Tfes feowat a2
(4)  CIeiEeT =t It T FEE A0Fes TweE a5 |

Options :

5362282965. 1
5362282966. 2
5362282967. 3
5362282968. 4

Question Number : 143 Question Id : 536228762 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0
gt wiedn T T SRR AfFfifas nifse oot afeefe aets st B2

(1) wniftw maw Wiy o=t Se-sw gEe S WRte e Aife-aift etaw sfafie

(2) ofoss wiges 797 e Wbt e eieftet ot |

()  IT AES T, tIET % wifng ow Siw Teiie g e

Options :

5362282969. 1
5362282970. 2
5362282971.3
5362282972. 4

Question Number : 144 Question Id : 536228763 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1) Sie-oE 5pe 4T 4=t o1 Sio-IPt 3317 7o |

(2) aigpfes s Tl oY fAom 13 srotats dwEts |

(3)  wiifomr wiHgs Sece ST Aiew EI el Afomerd wibe |
(4) 9T Hhooiys (49 i EETet cireld Afowes witieT |

Options :



5362282973. 1
5362282974. 2
5362282975.3
5362282976. 4

Question Number : 145 Question Id : 536228764 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FeTelg ¢ ofF GoriT ooie [ T Ooftwe wfee g Wi@?

(1) =roied Jere! WiF Nigad SET-T9497 &6 |

(2) Toles AFhe WiF AigEs SiaT-TTT A=he |

(3)  HFfoq e19fo AlEa T |
(4)  TIEE TeeE I SiF SiaT-TeEs Smhe |

Options :

5362282977. 1
5362282978. 2
5362282979. 3
5362282980. 4

Question Id : 536228759 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (141 to 145)
Question Label : Comprehension



7S, U ol oY oW TT | FYRISIT WEE AR e It JPUT IS
wgfs I o, cam- o5, e, T, ey, fta, s, Sty W33t gmiT ey et
fafes ert-TfRetrnme sigfs It segfesr wf =@ 39t =) focwz SfEfis sz
steFfes Ff wiie Twess Acgfes wf | e, QBRfRer Oot w3 swfacg | s19gfs e seee
TS W AW o et Ak W @it SRiss wiet e iz few It oee
AMATEN whootlds dET AT IwEE ocgfor Iy Tosw @1 ME GREE wEdE W
ffveres R Afififas =ie mfss ot oife EefERT o U |

ot 7T M- EdT @A w9 AT Toae A w, @t et Afiee ot
Tise w1 e creiaEng = @EREE I oo dfewae G et 3= 3 1R7 o= =i
F9eT Bud T AEFA- @it FiFa @ 913 T W3Rast ey dforle amm one, wifm
T cifont &fy o It wifE o Si-ow Ut oRe s At G Atfe-aitth e g, o
Tg T MSTe! S AP | dfssH migeT T Toe 9B S GimEteeat SieE | I TEES
oSt [ ele tapm, Ghfee Qi QT3s i |

T AT WIF oo (2 ANZ OfF SRT-ATT TR | oI SR S Mo SiEes o1
T (7 Wiy B Aeret WiF 7eFe |

Sub questions

Question Number : 141 Question Id : 536228760 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



SRS I 4T AFhoT 9 @ $¥a997

(1) o= seFhs T s o3t =7 |
(2) o wiF Tforer TiFho e SE T 27
(3)  IpwiT ey al e ef-SANeshRE TFhe =F & 27 |
(4) e AifEes, fta, fie, sw wifee wwgfe =i wat 27
Options :
5362282961. 1
5362282962. 2

5362282963. 3
5362282964. 4

Question Number : 142 Question Id : 536228761 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

@R TG T AFOT TEHT PN T ?

(1) Tom I iFe Ao =hoaidq FEg 79 FciE ARFoT 99 FoTo 77/ |
(2) TRETT Nifee 7 Aghos foowar 727 |

(3) R AfFte wt Tfes feowat a2
(4)  CIeiEeT =t It T FEE A0Fes TweE a5 |

Options :

5362282965. 1
5362282966. 2
5362282967. 3
5362282968. 4

Question Number : 143 Question Id : 536228762 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0
gt wiedn T T SRR AfFfifas nifse oot afeefe aets st B2

(1) wniftw maw Wiy o=t Se-sw gEe S WRte e Aife-aift etaw sfafie

(2) ofoss wiges 797 e Wbt e eieftet ot |

()  IT AES T, tIET % wifng ow Siw Teiie g e

Options :

5362282969. 1
5362282970. 2
5362282971.3
5362282972. 4

Question Number : 144 Question Id : 536228763 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1) Sie-oE 5pe 4T 4=t o1 Sio-IPt 3317 7o |

(2) aigpfes s Tl oY fAom 13 srotats dwEts |

(3)  wiifomr wiHgs Sece ST Aiew EI el Afomerd wibe |
(4) 9T Hhooiys (49 i EETet cireld Afowes witieT |

Options :



5362282973. 1
5362282974. 2
5362282975.3
5362282976. 4

Question Number : 145 Question Id : 536228764 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FeTelg ¢ ofF GoriT ooie [ T Ooftwe wfee g Wi@?

(1) =roied Jere! WiF Nigad SET-T9497 &6 |

(2) Toles AFhe WiF AigEs SiaT-TTT A=he |

(3)  HFfoq e19fo AlEa T |
(4)  TIEE TeeE I SiF SiaT-TeEs Smhe |

Options :

5362282977. 1
5362282978. 2
5362282979. 3
5362282980. 4

Sub-Section Number : 3
Sub-Section Id : 53622830
Question Shuffling Allowed : Yes

Question Id : 536228765 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (146 to 150)
Question Label : Comprehension



fafe Jiiiefite =9t o= Swfoee & 3=e @t bt fT23 et 38 3 o o S |
it o=t @it att sfam oot 3 | o1R wiiT TgTe @it T8 It ol At 3t = ) S
fafs ot oof efe Bt T - TEIwe O 3w | owerwe TPe @t g TR
it OBt wrEsw goE, I (W) O agEhT ) omartst 3t opnien it orsstwe ) ae
Tage ‘T Twww aEt T+ ag 5ot 3f (WE)F ot arm | e T e | s =T
Rt 2'te, seime f5fatt fiza (3-3-3) goe A, s amis fafrs st goiete 2@
(k-a-n-a-k) 1z ot T Ty st o ol 3ftwe &P droe s sEct et
o= Tazis w9t = |

fafts affe-afs fofy e o9Iw omge He fTa-faft | fto-faPe e st stope
=t | ol TP Rert @ie T ekl oiF sErEe e @e dRTe 2wt |
e iEt orwarwe Wingee @GP 93T SwEe oiF IwRs If = wipEs Gt gy
oY Tie 9 | drrss SN age SiNEs S @E O Tae 89 als F49 @i
Tel AR UF WoEe FHoE 70T |

Afadiy fofrags g9tm of se et oifR- (1) Frae fafs o ar 39 S,
o Bt 9f Sy @ e (2) Frae fofre owe o sfllve, - @mte, omeest,
ﬁmw@@(ﬁw)mw%ﬁﬁwﬂ%ﬁﬁrmmﬁﬂwmqq
4000 I%FF SACT-OffEr coffat TR 3T A ffore| ez || SEeen e JeTe! | @6l
it aifos Spats oo ofp offs a3 TP cerat tafget |

Sub questions

Question Number : 146 Question Id : 536228766 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(1) oTHIrwe oF IS T W ot

(2) I e OBt wESE Jo ot Iefree It I gorm
(3) OIS T i =i e g @EnE

(4) orFewe wiF e A WP 5ot et

Options :

5362282981. 1
5362282982.2
5362282983. 3
5362282984. 4

Question Number : 147 Question Id : 536228767 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Attt ot o fatte o owatwe Gt e et =0

(1) orFsrwe @Pe g Wihg wEcet JeEt T wwms o9l 5
(2 orFIiwS Wte @ e oo e wtog)

(3) oI e TEATE e Ot 39 Tw (g AT

@) owarwT TPte et ot oz it I8 T BT A9t FeE |

Options :

5362282985. 1
5362282986. 2
5362282987. 3
5362282988. 4

Question Number : 148 Question Id : 536228768 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



whnes faft 3o et 7 gone Reifsee

(1) wiges @ Jfa e ol Swifse wiqs gois e

(2) fafis offes el o aitls ofie gor e

(3) TrafEtie e e arek Rt ore s 99 oo aEr T goe e |
(49 ot wiges & g goiEe |

Options :

5362282989. 1
5362282990. 2
5362282991.3
5362282992. 4

Question Number : 149 Question Id : 536228769 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1) wwawe Qe wie e @igee SHedl Toie G Smiee | S o

fTeifarz |
(2) AT RPN A s I @nEt o e et oe 3t O3 5ot w9 e
fretfars |

(3) wrEarwe wimpwe TPt dun g o oF EE Tefte st o oftwe wfees
faft

(4 orwarwe AP @it ot fT28 @it OBt I o, RN ST |

Options :



5362282993. 1
5362282994. 2
5362282995. 3
5362282996. 4

Question Number : 150 Question Id : 536228770 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1) ot g stst gor- B9t &1t o a5
(2) faPs a¢F i got- Tatef e wiafat

(3) fafs ag= et 5of 8- gt et =% I 9 W HqiF Siqor St Sy It 3
YT |

(4 faPiT a9 o weEpr T'eT- St Gt TwpfEt, @ At ot ceartar @t

Options :

5362282997. 1
5362282998. 2
5362282999. 3
5362283000. 4

Question Id : 536228765 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (146 to 150)
Question Label : Comprehension



fafe Jiiiefite =9t o= Swfoee & 3=e @t bt fT23 et 38 3 o o S |
it o=t @it att sfam oot 3 | o1R wiiT TgTe @it T8 It ol At 3t = ) S
fafs ot oof efe Bt T - TEIwe O 3w | owerwe TPe @t g TR
it OBt wrEsw goE, I (W) O agEhT ) omartst 3t opnien it orsstwe ) ae
Tage ‘T Twww aEt T+ ag 5ot 3f (WE)F ot arm | e T e | s =T
Rt 2'te, seime f5fatt fiza (3-3-3) goe A, s amis fafrs st goiete 2@
(k-a-n-a-k) 1z ot T Ty st o ol 3ftwe &P droe s sEct et
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